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Public a As Integer

Private Sub Command] Click ()

If (Optionl.value = True) Or (Option2.value = True) 01' (Option3.value = True) Then
Load Form2

Form2,Show

If Optionl.value = True Then

Form2.Command!.Visible = True

End If

If Option2.value = True Then

Form2.Command2. Visible = True
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End If

If Option3.value = True Then
Form2.Command4.Visible = True
Form2.Text3.Visible = True
Form2.Label6.Visible = True

End If

Else

Load Form7

Form7.Show

End If

Form1.Visible = False

End Sub

Private Sub Command2_Click()
End
End Sub

Private Sub Command3_Click()
Load Help

Help.Show

End Sub

] 1 a o
FormZ(ﬁ'JHﬂ‘a’ﬂﬂﬂ]ﬂ‘i«!‘l’!ﬁ.!ﬂ]ﬂﬂﬂ)

Public numout As Integer
Public num As Integer
Public a As Integer

Dim ftextok As Integer
Dim stextok As Integer

Dim combook As Integer
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Dim un() As String
Dim unv() As String

Dim sameok As Integer

inpul name

Duipui name

Select teim

don't care

Public Function cuts(st As String) As String()
Dim lon As Integer
Dim i As Integer

Dim ii As Integer
Dim numm As Integer
Dim puk As String
Dim va As String

Dim kk As String
Dim repeat As Integer
Dim unk() As String
ReDim unk(5)

auto fnpui
name

aule Output
name
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repeat =0

ftextok =0
numm =90
kk = nn

fon = Len(st)

If lon = 0 Then

MsgBox (“fudneldaaulsn)

Exit Function

Else

Fori=1Tolon

puk = Lefi$(st, i)

va = Right$(puk, 1)

If va="," Then

Ifkk << "" Then

unk(numm) = kk

numm = numm + 1

Kk = "

Eise

MsgBox ("gau laitdanalsuSorandanlusunsu)
Exit Function

End If

Else

If va<>"" Then

If Not ({(va =="0") And (va <="9")) Then
kk=kk & va

Else

MsgBox ("you should not define input,output is number"}
Exit Function

End If

End If



End If
Next I
End If
If kk <> "" Then
unk(numm) = kk

mumm = nwmm + 1

EndIf

If st Like Textl.Text Then

If numm = 1 Then

MsgBox ("you have input 2 to 5")
Exit Function

End If

If numm >= 6 Then

MsgBox ("you have input 2 to 5™)
Exit Function

End If

Else

If nunnm > 4 Then

MsgBox ("you have cutput 1 to 4")
Exit Function

End If

End If

Fori=0To numm - 2
Forii=i+1 To numm - 1

If unk(i) = unk(ii) Then

repeat = 1

End 1f

Next ii

Next i
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If repeat = 1 Then
MsgBox ("you can not put same input or cutput")
Exit Function

End If

If st Like Textl.Text Then
num = numm

nu = numin

Else

numout = numin

Nno = nuImm

End 1f

ftextok = 1

cuts = unk

End Function

Sub checkcombo()

combook =0

If Combol.Text < "" Then
combook = 1

Else

MsgBox ("you must choose term”)
End If

End Sub

Sub checksame()
Dim i As Integer
Dim ii As Integer

sameok = 0
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Fori=0Tonum- 1

For ii = 0 To numout - 1

If unv(i) Like un(ii) Then

MsgBox ("inputname and outputname has same")

Exit Sub
End If

Next ii
Next i
sameok = 1

End Sub

Private Sub Combo2_Click()
Select Case Combo2.Text
Case "2"
Text].Text="A,B"

Case "3"
Text]l.Text="A,B,C"
Case "4"
Textl.Text="A,B,C,D"
Case "5"

Textl. Text="4A,B,C,D.E"
End Select

End Sub

Private Sub Combo3_Click()
Select Case Combo3.Text
Case "1"

Text2. Text="2Z"
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Case "2"

Text2. Text="Y,Z"
Case "3"

Text2. Text ="XY,Z"
Case "4"

Text2, Text="W,X,Y,Z"
End Select

End Sub

Private Sub Commandl_Click()
num =0

numout = 0

1f (Text2.Text < ") Or (Textl.Text << "") Then
If Textl.Text Like Text2.Text Then

MsgBox ("inputname and outputnarne has same")
Exit Sub

End If

End If

unv = cuts(Text]l. Text)

If ftextok = 1 Then
checkcombo

End If

If (ftextok = 1) And (combook = 1) Then
un = cuts(Text2.Text)

If ftextok = 1 Then

checkcombo

End If
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If (num > 0) And (nurnout > 0} Then
checksame

End If

If sameok = 1 Then

If (ftextok = 1) And (combook = 1) Then
Load Form3 .

Form3.Show

Form2.Visible = False

End If

End If
End If

End Sub

Private Sub Command2_Click()

Dim ss As String

Dim i As Integer

mun =0

numout = ¢

If (Text2. Text << "") Or (Textl.Text <> "") Then
If Textl.Text Like Text2. Text Then

MsgBox ("inputname and outputname has same")
Exit Sub

End If

End If

unv = cuts(Text1.Text)
If ftextok = 1 Then

checkcombo

End If
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If (ftextok = 1) And (combook = 1) Then

un = cuts(Text2.Text)

If ftextok = 1 Then

checkcombo

End If

If (num > 0} And (numout > 0) Then

checksame

End If

If sameok = 1 Then

If (ftextok = 1) And (combook = 1) Then
Load Form4

Form4.Show

Form2.Visible = False

Fori=0To numout - 1
Formd4.Label 1(i), Visible = True
Formd4.Label2(i}.Visible = True
Fotmd, Text1(i).Visible = True
Form4. Text2(i). Visible = True
Form4.Label1(i).Caption = un{i)
Next i
Fori=0Tonum- 1
58 = 55 & unv(i)

If i <> num - 1 Then
ss=ss&","

End If

Next i

Fori=0To3
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Formd4.Label 1(i).Caption = Form4.Label 1 (i).Caption & "(" & ss & ")"
Next i

End If

End If

End If

End Sub

Private Sub Command3 Click()
Unload Form1

Load Forml

Form1.Show

Unload Form2

End Sub

Private Sub Command4 Click()
Dim i As Integer

Dim dc As Integer

Dim dcar() As Integer

Dim ii As Integer

Dim aa As String

Dim bb As String

num =0

nurmout =0

If (Text2.Text << "") Or (Textl.Text <= "*") Then
If Textl.Text Like Text2.Text Then

MsgBox ("inputname and outputname has same")
Exit Sub

End If

End If



unv = cuts(Text]l. Text)

If fiextok = 1 Then
checkcombo

End If

If (ftextok = 1) And (combook = 1) Then
un = cuts(Text2,Text)

If ftextok = 1 Then

checkcombo

End If

If (num > 0) And (numout > 0) Then
Checksame

EndIf

If sameok = 1 Then
If (fiextok = 1) And (combook = 1) Then

dcar = Form4.cutnumd(Form?2.Text3.Text)

dc = Form4.dc

If Form4.pa = 0 Then
Exit Sub

Else

Load Form3
Form5.Show
Form2.Visible = False
End If

End If

End If
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End If

End Sub

Private Sub Command5 Click()
End

End Sub

Private Sub Form_Load()
mum =0
numout = 0

End Sub

Form3 (23ulaaana)

1tutput name

Public logic As String
Dim firstx As Integer

Dim firsty As Integer
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Dim xy As Integer

Dim frameindex As Integer
Dim arrays(12, 35) As Integer
Dim a(12) As Integer

Public numout As Integer
Dim output() As String
Dim dc(12) As Integer

Dim dcare(12, 35) As Integer
Dim unk() As String

Public num As Integer
Public mumf As Integer
Public tnuml As Integer

Dim listout As Integer
Public aa As Integer

Public dcc As Integer

Sub locate()

Dim 1 As Integer

de(listout) = -1

a(listout) =-1

For i =tmmf To thuml

If (Label 1(i).Caption = logic) Then
a(listout) = a(listout) + 1
arrays(listout, a(listout)) = i - tnumf
End If

If Label I(i).Caption = "d" Then
de(listout) = de(listout) + 1
deare(listout, de(iistout)) = i

End If

NextI



End Sub

Sub appear()
Dim i As Integer

Select Case num

Case 2

Framel(0).Visible = True

Framel(0).Caption = unk(1) & " \ * & unk(0)

tnumf=0

tnuml =3

Case 3

Framel(1).Visible = True

Framel(1).Caption =unk(1) & " " & unk(2) & "\ " & unk(0)

tmumf=4

tnuml =11

Case 4

Framel(2).Visible = True

Framel(2).Caption = unk(2) & "" & unk(3) & "\" & unk(0) & " " & unk(l)
tnumf = 12

tnum] = 27

Case 5

Framel(2).Visible = True

Framel(3).Visible = True

Framel(2).Caption = unk(3) & " " & unk(4) & "\ " & unk{l) & " " & unk(2)
Framel(3).Caption = unk(3) & " " & unk(4) & "\ " & unk(1) & " " & unk(2)
Labe}3(0).Visible = True

Label3(1).Visible = True

Label3(0).Caption = unk(0) & " = 0"

Label3(1).Caption = unk{0) & " = 1"

tnumf = 12
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tnuml = 43

End Select

For i =0 To numout - 1
List1.AddItem output(i)
Next 1

End Sub

Sub showkn()

Dim i As Integer

For i = mumf To tnuml
Label1(i).Caption = ""

Nexti

For i = 0 To a(listout)
Label1(arrays(listout, i) + tnumf).Caption = logic
Next i

For i = 0 To dcflistout)

Label 1(dcare(listout, i}).Caption = "d@"
Next i

End Sub

Public Function continlogic(out As Integer} As Integer()
Dim i As Integer

Dim arr(} As Integer

ReDim arr(33)

aa = a(out)

For i =0 To a(out)

arr(i) = arrays(out, 1)

Next i

continlogic = arr

End Function
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Public Function contindc{out As Integer) As Integer()
Dim i As Integer

Dim dcar() As Integer

ReDim dcar(32)

dec = de(out)

For i= 0 To dc{out)

dcar(i) = dcare(out, 1)

Next |

contindc = dcar

End Function

Private Sub Commandl_Click()
locate

Load Formé6

Form6.Show

Form3.Visible = False

End Sub

Private Sub Command2 Click()
Unload Form?2

Load Form?2

Form2.Show
Form2.Commandl.Visible = True
Unload Form3

End Sub

Private Sub Command3_Click()
End
End Sub
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Private Sub Form_DragDrop(Source As Control, X As Single, Y As Single)

Framel(frameindex).Top = Y - firsty
Framel(frameindex).Left = X - firstx
xy=0

End Sub

Private Sub Form_Load()
Dim i As Integer
If Form2.Combol.Text = "Minterm" Then

logic ="1"
'EBlsg
logic="0"
End If

unk = Form2.cuts(Form2.Text1)
num = Form2.nuin

output = Form2.cuts(Form2.Text2)
numoeut = Form2.numout

appear

List]l.ListIndex =0

listout=0

For i=0 To numout - 1
a(i)=-1

de(i)=-1

Nexti

End Sub

Private Sub Form_Unload(Cancel As Integer)

Dim i As Integer
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Fori=0 To numout - 1

List]l.Removeltern numout - I - i

Next i

End Sub

Private Sub Framel DragOver{Index As Integer, Source As Control, X As Single, Y As Single,

State As Integer)

If xy = 0 Then
frameindex = Index
firstx = X
firsty=Y

xy=1

End If

End Sub

Private Sub Labell_Click(Index As Integer)
Select Case Label I(Index).Caption
Case ""

Label 1{Index).Caption = logic
Case logic

Label1(Index).Caption = "d"

Case "d"

Label1(Index).Caption = ""

End Select

End Sub

Private Sub Listl_Click()

locate

listout = List].ListIndex

showkn

End Sub
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Form4 (1N 58nA181we)

Dim pass As Integer
Public pa As Integer
Public a As Integer
Public dc As Integer
Dim wo As Integer
Public Function cutnuml{st As String) As Integer()
Dim lon As Integer
Dim i As Integer

Dim puk As String
Dim va As String
Dim kk As String
Dim ¢ As Integer
Dim repeat As Integer



Dim ii As Integer

Dim cnum As String
Dim vaa As Integer
Dim arrays() As Integer

ReDim arrays(32)

a=-1

kk — ne
lon = Len({st)
¢=(2"Form2.num) - 1

cnum = str$(c)

If lon = 0 Then

MsgBox ("you must put value™)
Exit Function

Else

Fori=1 Tolon

puk = Left$(st, i)

va = Right$(puk, 1)

Ifva="" Then

If kk <> "" Then

vaa = Val(kk)

If (vaa >=0) And (vaa <=c) Then
a=a+1

arrays(a) = vaa

Kk ="

Else

MsgBox ("value must have 0 to " & cnum)
Exit Function

End If

Else
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MsgBox ("gou LiiladaulsnToraudn ldsunsu®)
Exit Function

End If

Else

If (va>="0") And (va <="9") Then
kk=kk & va

Else

MsgBox ("you must put number")
Exit Function

EndIf

End If

Next i

End If

Ifkk << "" Then

vaa = Val(kk)

1f (vaa >= 0) And (vaa <=¢) Then
a=a+t1l

arrays(a) = vaa

Kk ="

Else

MsgBox ("value musf have 0 to " & cnum)
Exit Function

End If

End If

Fori=0Toa-1
Forii=i+1Toa

If arrays(i) = arrays(ii) Then
repeat = 1

End If
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Next il

Next i

If repeat = 1 Then

MsgBox ("you can not put same value")
Exit Functio_n

End If

If a >= 32 Then

MsgBox ("you have value not over 32")
Exit Function

End If

pass =pass + [

cutnuml = arrays

End Function

Public Function cutnumd(st As String) As Integer()
Dim lon As Integer
Dim i As Integer

Dim puk As String
Diin va As String

Dim kk As String

Dim ¢ As Integer

Dim repeat As Integer
Dim ii As Integer

Dim cnum As String
Dim vaa As Integer
Dim arrays() As Integer
ReDim arrays(32)
dc=-1

Kk =""
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pa=0
Ion = Len(st)
¢ = (2~ Form2.num) - 1

chum = sir${c)

Iflon <= 0 Then

Fori=1 Tolon

puk = Left$(st, 1)

va = Right$(puk, 1)

Ifva="," Then

Ifkk <> "" Then

vaa = Val(kk)

If (vaa >= 0) And (vaa <=c) Then
dc=dc+1

arrays(dc) = vaa

Kk ="

Else

MsgBox ("value must have 0 to " & cnum)
Exit Function

End If

Else

MsgBox ("ga I laduilsnioRavan Isunsy”)
Exit Function

End If

Else

If {va>="0") And (va <="9") Then
kk=kk & va

Else

MsgBox ("you must put number")

Exit Function
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End If

End If

Next i

End If

If kk < "" Then
vaa = Val(kk)

If (vaa >= 0) And (vaa <= ¢) Then
de=dec+1
arrays(dc) = vaa
Kk ="

Else

MsgBox ("value must have 0 to " & cnurn)

Exit Function
End If

End If
Fori=0Todc-1

Forii=i+1Tode

If arrays(i) = arrays(ii) Then
repeat =1

End If

Next ii

Next i

If repeat = 1 Then
MsgBox ("you can not put same value")
Exit Function

End If

If d¢ >= 32 Then
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MsgBox ("you have value not over 32")
Exit Function

End If

pass=pass+1
pa=1
cutnumd = arrays

End Function

Private Sub Commandl_Click()
Dim arr() As Integer

Dim dcar() As Integer

Dim i As Integer

Dim ii As Integer

Dim X As Integer

Dim Y As Integer

Dim same As Integer

pass=0

same =0

For i = 0 To (Form2.numout - 1)
WO = pass

arr = cutnuml(Text1(i). Text)
If wo <= pass Then

WO = pass

dcar = cutnumd(Text2(i). Text)
If wo = pass Then

Exit For

End If

Else
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Exit For

End If

ForX=0Toa
ForY=0Todc

If arr{X) = dcar(Y) Then
same =1

End If

NextY

Next X

If same =1 Then
MsgBox ("logic and don't care is same value™)
Exit For

End If

Next i

If (pass = (2 * Form2.numout)) And (same = 0) Then
Load Formé

Form6.Show

Form4.Visible = False

End If

End Sub

Private Sub Command2 Click()
Unload Form2

Load Form2

Form2.Show
Form2.Command2.Visible = True
Unload Form4
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End Sub

Private Sub Command3_Click()
End

End Sub

Forms3 (eNUUAIXA)

L E TR TS T

Dim de As Integer

Dim dear() As Integer
Dim num As Integer
Dim numout As Integer
Dirm unk() As String
Dim output() As String
Dim oldlist As Integer

Private Sub Command]l_Click()
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1

Load Form6
Form6.Show
Formb5.Visible = False
End Sub

Private Sub Command2_Click()
Unload Form?2

‘Load Form?2

Form2.Show
Form2.Command4.Visible = True
Form2.Text3.Visible = True
Form2.Label6.Visible = True
Unload Form5

End Sub

Private Sub Command3_Click{)
End
End Sub

Private Sub Form_Load()
Dim i As Integer

Dim v As Integer

Dim st As String

Dim namein As String
Dim nameout As String
Dim ii As Integer

Dim log As String

Dim X As Integer

Dim oo As Integer
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v=0

unk = Form2.cuts(Form2.Text1.Text)
num = Form2.num

output = Form2.cuts(Form2.Text2. Text)

numout = Form2.numout

dcar = Form4.cutnumd(Form2. Text3.Text)
dc = Formd.dc

Fori=0 Tonum- 1

If i=num- 1 Then

namein = namein & unk(i)

Else

namein = namein & unk(i) & " "

End If

Next i

For i =0 To numout - 1

If i = numout - 1 Then
nameout = nameout & output(i)
Else

nameout = nameout & output(i) & " "
End If

Nexti
Fori=0To (2" (num-2))-1
st=str$(v) & " - " & str8(v + 3)
Listl.AddItem st

v=v+t4

Frame2(i).Caption = st
Label3(i).Caption = namein

Label4(i).Caption = nameout

82



Next i

Fori=0Todc
Framel(dcar(i)).Enabled = False
Next i |
Fori=0Tonum- |

v=i

Forii=0To (2~ mum) - 1
Label1(v).Visible = True
v=v+5

Next ii

Next i

If Form2.Combol.Text = "Minterm" Then
log="0"

Else

log="1"

End If

For i =0 To numout - 1
v=1i
Forii=0To (2" num) - 1
Label2(v).Visible = True
o0=0

ForX=0Todc

If ii = decar(X) Then
oo=1

End If

Next X

If oo =0 Then
Label2(v).Caption = log
End If
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v=v+4

Next ii

Next i
Listl.ListIndex =0
oldlist=10

End Sub

Private Sub Label2_Click{(Index As Integer)
Select Case Label2(Index).Caption

Case "(0"

Label2(Index).Caption ="1"

Case "1"

Label2(Index).Caption = "Q"

End Select

End Sub

Private Sub List] Click()
Frame2(oldlist). Visible = False
Frame2(List1.Listlndex).Visible = True
oldlist = List1.ListIndex

End Sub

Formé6 (84N 151andNa)

Dim a(12) As Integer

Dim hj(I2) As Integer

Dim hjj(12, 32) As Integer

Dim n(12) As Integer

Dim arrays(12, 32) As Integer

Dim strmum{12, 10, 100, 5) As Integer

Dim cycle(12, 100, 100) As Integer



Dim cy(12, 100) As Integer

Dim messp(12, 50) As String

Dim logic As String
Dim firstx As Integer
Dim firsty As Integer
Dim xy As Integer
Dim State() As String
Dim sta As Integer
Dim frameindex As Integer
Dim oldlist As Integer
Dim outff(5) As String
Dim outf As Integer
Dim inff(10) As String
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Dim inf As Integer

Function checkdo(use() As Integer, u As Integer) As Integer
Dim z As Integer ‘
Dim zz As Integer

Dim zi As Integer

Dim bb As Integer

Dim yes As Integer

Dim out As Integer

Dim str(30, 5) As Integer

Dim cyc(30, 35) As Integer

Dim cyy(35) As Integer

Dim h(32) As Integer

yes =10
out=0

Forz=0Tou

For zz= 0 To cy(lo, use(z))
For zi = ( To hj(lo)

If cycle(lo, use(z), zz) = (hjj(lo, zi) + thumf) Then
h(zi) =1

End If

Next zi

Next zz

Next z

bb=-1

For z= 0 To hj(lo)

Ifh{z) = 1 Then
bb=bb+1

End If
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Next z

If bb = hj(io) Then

yes =1

out=1

End If

If yes = 1 Then

Forz=0Tou
Forzz=0Tonum- 1

str{z, 2z) = stroum(lo, n(lo), use(z), zz)
Next zz

For zz = 0 To cy(lo, use(z))
cyc(z, zz) = cyclello, use(z), zz)
Next zz

cyy(z) = cy(io, use(z))

Next z

Forz=0Tou
Forzz=0Tonum-1
strnum(lo, n(lo), z, zz) = str(z, zz)
Next zz

For zz = 0 To cyy(z)

cycle(lo, z, zz) = cycl(z, zz)
Next zz

cy(lo, z) = cyy(2)

Next z

k(lo) =u

End If

checkdo = out

End Function

Function updatecycle(u As Integer, use{) As Integer)



Dim z As Integer

Dim zz As Integer

Dim cyc(30, 35) As Integer
Dim cyy(35) As Integer
Dim str(30, 5) As Integer

If u <> k(lo) Then

Ifu<>-1 Then

Forz=0Tou
Forzz=0 To nun - 1

str{z, zz) = strmum(lo, n(lo), use(z), zz)
Next zz

For zz =0 To cy(lo, use(z))
cyc(z, zz) = cycle(lo, use(z), zz)
Next zz

cyy(2) = cy(lo, use(z))

Nextz

Forz=0Tou

For zz=0 To num - 1

strnum(lo, n{lo), z, zz) = str(z, zz)
Next zz

For zz = 0 To cyy(z)

cycle(lo, z, zz) = cyc(z, zz)

Next zz

cy(lo, 2) = cyy(z)

Next z
kloy=u
Else
a(lo) =-1

End If
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End If

End Function

Sub checkdeare()

Dim i As Integer

Dim 1i As Integer

Dim X As Integer

Dim numdon As Integer
Dim u As Integer

Dim use(20) As Integer
Dim z As Integer

Dim s As Integer

Dim oneuse(20) As Integer
Dim Noneuse As Integer
Dim has As Integer

Dim nub As Integer

Dim nubc As Integer

Dim cyc(35) As Integer
Dim onlyone(30, 35) As Integer
Dim Nouse(30) As Integer

Dim nu As Integer

u=-1

Fori=0Tok(lo)

numdon = -1

For ii = 0 To cy(lo, 1)

For X =0 To dc(lo)

If eycle(lo, i, ii) = deare(lo, X) Then
nutndon = numdon + 1

End If



Next X

Next ii

If numdon <> cy(lo, i) Then
u=u+l

use(u) =1

End If

Next i

Call updatecycle(u, use())

Fori=0 Tok(lo)

cyc(i) = -1

For ii = 0 To cy(lo, i)

For z= 0 To hj(lo)

If (cycle(lo, i, ii) - tnumf) = hjj(lo, z) Then
cyc(i) = cye(i) + 1

onlyone(i, cyc(i)) = hijj(lo, z)

End If

Next z

Next ii

Next i

Fori=0Tok(lo)
Nouse{i) =0

Next i

u=-1
Fori=0Tok(lo)
nmb=-1

For ii = 0 To cyc(i)
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has=0

For z=0 To k{lo)
If (i < z) And (Nouse(z) = 0) Then
For s = 0 To cyc(z)
If ontyone(i, ii) = onlyone(z, s) Then
nub=nub+ 1
has=1

Exit For

End If

Nexts

Ifhas = 1 Then

Exit For

End 1f

End If

Next z

Next ii

If nub < cyc(i) Then
u=u+l

use(uw) =1

Else

Nouse(i) = 1

End If

Next i

Call updatecycle(u, use())

u=-1.

Noneuse = -1
Fori=0 Tok(lo)
mb=0

nubc =0
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For ii = 0 To cy(lo, 1)

For z= 0 To hj(lo)

If (cycle(lo, i, ii) - mumf) = hjj(lo, z) Then
has=0

nub=nub + 1

If Noneuse = -1 Then
Noneuse =0

oneuse(0) = hjj(lo, 2)

Else

For s = 0 To Noneuse

If hjj(lo, z) = oneuse(s) Then
has =1

nubc =nubc + 1

End If

Next s

If has = 0 Then

Noneuse = Noneuse + 1
oneuse(Noneuse) = hjj(lo, z)
End If

End If

End If

Next z

Next ii

If nub <> nubc Then
u=u+l

use(u) =1

End I'f

Nexti

Call updatecycle(u, use())
End Sub

02



Sub feycle()

Dim i As Integer
Dim add As Integer
Dim size As Infeger
Dim ii As Integer
Dim match As Integer
Dim X As Integer
Dim xx As Integer
Dim z As Integer
Dim sum(100) As Integer
Dim sumpair As Integer
Dim sumall As Integer
Dim u As Integer
Dim use(100) As Integer
Dim out As Integer
Dim s As Integer
Dim sumpuk As Integer
Dim zz As Integer

'Dim zi As Integer
Dim za As Integer
Dim zb As Integer
Dim yes As Integer
Dim compare As Integer
Dim nub As Integer
Dim zg As Integer
Dim doo As Integer

out=10

1f ((a(lo) < -1) And (a(lo) << ((2 ~ num) - 1))) Then
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Fori=0To k(lo)

add=0

size = -1

Forii=0To num - 1

If strnum{lo, n(lo), i, ii} = -1 Then

size = size + 1

cycle(lo, 1, size) =2 ~ (num - 1 - {i)

Else

add = add + (strmum(lo, n{lo), 1, ii) * (2 ~ (num - 1 - ii)))
End If

Next ii
s = size

ForX=0Tos-1

Forxx=X+1Tos

size = size + |

cycle(lo, 1, size) = cycle(lo, 1, X) +cycle(lo, 1, xx)
Next xx |

Next X

For match=1Tos- 1

For X=0Tos- 1 - match

For xx =X+ 1 To s - match
sumpair = cycle(lo, 1, X)

For z=xx To xx + match- 1
sumpair = sumpair + cycle(lo, 1, 2)

Next z

94



Forzz=z2Tos

size = size + 1

cycle(lo, i, size) = sumpair + cycle(lo, i, zz)
Next zz

Next xx

Next X

Next match

size = size + 1

cycle(lo, i, size) = 0
For X =0 To size

cycle(lo, i, X) = cycle(lo, i, X) + add + thumf
Next X

cy(lo, i) = size

Next i

If (k(lo) <> 0) And (k(lo) <> 1) Then

Fori=0 To k(lo)

sum(i) =0

For ii =0 To cy(lo, i)

sum(i) = sumn(i) + cycle(lo, i, ii)
Next ii

Next i

sumall =0
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Fori=0 To hj(lo)
sumall = sumall + hjj(lo, i) + thumf

Next i

Fori=0Tok(lo)- 1
sumpair =0

u=-1

u=u+]

use(u) =1

sumpair = sumpair + sum(i)
Forii=i+1 Tok(lo)
u=u+1l

use(u) =1ii

If ((sumpair + sum(ii)) = sumall) Then
out = checkdo(use(), w)
End If

If out = 1 Then

Exit For

End If

u=u-1

Next ii

If out=1 Then

Exit For

End If

Next i

If out = 0 Then
For match =1 To k(lo) - 1
Fori=0Tok(lo) - 1 - match
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For xx =1+ 1 Tok(lo) - match + 1
u=-1

u=u+l

use(u) =1i

sumpair = sum(i)

Forz=xxToxx+match-l

u=u+l
use{u) =z
sumpair = sumpair + sum(z)

Next z

Forii=z To k(lo)
n=u+l

use{n) = ii

Forzz=0Tou-1
Forzi=zz+1Tou

If ¢y(lo, zz) > cy(lo, zi) Then
compare = cy(lo, zi) + 1

Else

compare = ¢y(lo, zz) + 1

End If

nub=0

For za = 0 To cy(lo, zz)

For zb = 0 To c¢y(lo, zi)

If cycle(lo, 2z, za) = cycle(lo, zi, zb) Then
nub=nub + 1

End If

97



Next zb

Next za

If (nub > () And (nub < compare) Then
yes=1

End If

Next zi

Next zz

If ((sumpair + sum(ii) = surnall) Or (yes = 1)) Then

If u < k(lo) Then

out = checkdo(use(), u)
EndIf

End If

n=u-1

yes= (0

1fout =1 Then
Exit For
End If

Next 11

If out = O Then
Forii=i+1Toxx-1
u=u+1l

use(u) = ii

Forzz=0Tou-1

Forzi=zz+1Tou
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If cy(lo, zz) > cy(lo, zi) Then

compare = ¢y(lo, zi) + 1

Else

compare = cy(lo, zz) + 1

End if

nub=0

For za = 0 To cy(lo, zz)

For zb = 0 To cy(lo, zi)

If cycle(lo, zz, za) = cycle(lo, zi, zb) Then
nub=rnub+ 1

End If

Next zb

Next za

If (nub > 0) And (nub < compare) Then
yes =1

End If

Next zi

Next zz

If ((sumpair + sum(ii) = sumall) Or (yes = 1)) Then
doo=1

Forzg=0Tou-1

Forzz=zg+1Tou

If use(zg) = use(zz) Then

doo=0

End If

Next zz

Next zg

If (u <> k(lo)) And (doo = 1) Then
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out = checkdo(use(), u)
EndIf
EndIf

If out =1 Then
Exit For

End If

Next ii

End If

If out = 1 Then
Exit For
End If

Next xx

If out = 1 Then
Exit For
End If

Next i

If out=1 Then
Exit For

Else

sumpair =0
u=-1
u=u+l

use(u) = k(lo)

sumpair = sumpair + sum(k(lo))
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For xx = 0 To match - 1
u=u+1l

use(u) = xx

Surmpair = surnpair + sum(xx)
Next xx

For ii = 0 To match

u=u+1

use(u) =ii

Forzz=0Tou-1
Forzi=zz+1Tou

If cy(lo, zz) > cy(lo, zi) Then

compare = cy(lo, zi) + 1

Else

compare = cy(lo, zz) + |

End If

mub = 0

For za = 0 To cy(lo, zz)

For zb = 0 To cy(lo, zi)

If cycle(lo, zz, za) = cycle(lo, zi, zb) Then
nub =nub+ 1

End If

Next zb

Next za

If (nub > 0) And (nub < compare) Then
yes=1

End1f

Next zi

Next zz
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If ((sumpair + sum(ii) = sumall) Or (yes = 1)) Then

Ifu <> k(lo) Then

out = checkdo(use(), u)
End If

End If

If out = 1 Then
Exit For

End If

Next i

End If

Next match

End If

EndIf

za=-1

If (k(lo} <= 0) Then
If (de(lo) > -1) Then
checkdcare

End If

End If

102



103

For z = 0 To k(Io)

For zz = 0 To cy(lo, 2)

za=za+ 1

cycle(lo, k(lo) + 1, za) = cycle(lo, z, zz)
Next zz

Next z
cy(lo, k(io) + 1) =za

End If

End Sub
Sub minform()

Dim i As Integer

Dim io As Integer
Dim ii As Integer
Dim relize As Integer
Dim dif As Integer
Dim same As Integer
Dim doo As Integer
Dim rou As Integer
Dim locate As Integer
Dim use(100) As Integer
Dim str() As Integer
Dim ¢ As Integer
Dim stt(5) As Integer

Dim ar As Integer



n(lo) =0
k(lo) =-1
dif=0

same =0

If (alo) =-1) Or (a(lo) = (2~ mum) - 1) Then
relize=0

Else

If a(lo) = 0 Then

relize = 0

k(lo) = k{lo) + 1

ar = arrays(lo, 0)

str = binary(ar)
Forii=0Tonum- 1

strnum(lo, n(lo), k(lo), ii) = str(ii)
Next ii

Else

relize = 1

End If

End If

Ifrelize = 1 Then
For i= 0 To a(lo)
k(lo) = k(lo) + 1

ar = arrays(lo, 1)

str = binary{ar)
Forii=0Tonum- 1

strmum(lo, n(1o), k(lo), i) = str(ii)
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Next ii
Next i
End If

Do While relize =1

relize=0

Forio=0 To k{lo) - 1
Fori=io+1 Tok(lo)
dif =0
Forii=0Tonum- 1
1f strnum(lo, n{lo), 1o, ii) < strnum(lo, n(lo), i, ii) Then
dif = dif + 1

End If

Next ii

If dif =1 Then

relize = 1

Exit For

Else

relize=0

End If

Next i

Ifrelize = 1 Then

Exit For

End If

Next io

Ifrelize = 1 Then
rou = k(lo)
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k(lo) =-1

doo=1

Fori=0Torou
use(i) =0

Next i

Forio=0Torou- 1

Fori=io+ 1 Torou

dif=0 '

Forii=0Tonum - 1

If strmum(lo, n(i0), io, ii) <= stenum(lo, n(lo), i, ii) Then
dif = dif + 1

locate = ii

End If

Next ii

If dif = 1 Then

For ii = 0 To num - 1

stt(ii) = strmum(lo, n(lo), i, ii)
Next ii

stt(locate) = -1

For ¢ = 0 To k(lo)

same =0

Forii=0Tonum- 1

If stmum(lo, n(lo) + 1, ¢, i1) = stt(ii) Then
same = same + 1

End If

Next ii



A

If same = num Then
doo=0

Exit For

Eise

doo=1

End If

Next ¢

If doo =1 Then

k(io) =k{lo) + 1

Forii=0Tonum- 1

stmum(lo, n(lo) + 1, k(lo), ii) = strnum(lo, n(lo), i, ii)
Next ii

strnum(lo, n(lo) + 1, k(lo), locate) = -1

End If

use(i) = 1

use(io) = 1

End If

If dif = 0 Then

k(lo}) =k(lo) + 1

Forii=0Tonum- 1

strnum(lo, n(lo) + 1, k(lo), i) = strnum(io, n(lo), i, i)
Next ii

use(i) = 1

use(io) =1

End If

Next i

Next io
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Fori=0Torou

If use(i) = 0 Then

k(lo) =k{lo) + 1

Forii=0Tonum- 1

strnum(lo, n{lo) + 1, k(lo), ii) = strnum(lo, n(lo), i, i)
Next ii |

End If
Next i

nflo) = n(lo) + 1
End If

Loop

End Sub

Function binary(z As Integer) As Integer()
Dim gg As Integer

Dim kg As Integer

Dim strr{) As Integer

ReDim strr{num)
gg=2"(num- 1)
Do While Not {((gg=0) And (z=0))

z=z-gg
If z>=0Then
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strrkg) = 1
kg=kg+1
Else
strr(kg) =0
kg=kg+1
z=z2+gg
End If
pe=ge/2
Loop

binary = strr

End Function

Sub appear()

Select Case num

Case 2

Framel(0).Visible = True

Frame1(0).Caption = unk(1) & "\ " & unk(0)

thumf =0

truml =3

Case 3

Framel(1).Visible = True

Framel(1).Caption = unk(1) & " " & unk(2) & "\ " & unk(0)
trumf = 4

tnuml = 11

Case 4

Framel(2).Visible = True

Framel(2).Caption = unk(2) & " " & unk(3) & "\ " & unk(0) & " " & unk(1)



thumf= 12

tnuml = 27

Case 5
Framel(2).Visible = True
Framel(3).Visible = True

Frame1(2).Caption = unk(3) & " " & unk(4) & "\ " & unk(1) & " " & unk(2)
Framel(3).Caption=unk(3) &" " & unk(4) & " \" & unk(1) & " " & unk(2)

- Label3(0).Visible = True
Label3{1).Visible = True
Label3(0).Caption = unk(0) & " = 0"
Label3(1).Caption = unk(0) & " = 1"
tnuinf =12
tnuml = 43
End Select
End Sub

Sub fmess()

Dim mess As String
Dim i As Integer
Dim ii As Integer

Dim aorhj As Integer

Fori=0To 15

messp(lo, i) =

Next 1

Select Case a(lo)
Case -1
If logic = "0" Then

messp(lo, 0) ="1"
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Else

messp(lo, 0) ="0"
End If

k(lo) =k(lo) + 1
Case ((2 ~ num) - 1)
If de(lo) <> (2~ num) - 1 Then
If logic = "0" Then
messp(lo, 0) ="0"
Else

messp(lo, 0) ="1"
End If

Else

If logic = "0" Then
messp(lo, 0) ="1"
Else

messp(lo, 0) = "0"
End If

k(lo)=0

End If

k(lo) =k(lo) + 1
Case Else

Select Case logic
Case "0"

Fori=0 Tok(lo)

Forii=0Tonmum- 1

Select Case striurn(lo, n{lo), 1, i)
Case 0
If messp(lo, i) ="" Then

mess = mess & "("
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Else
mess = mess & "+"
messp(lo, 1) = messp(lo, i) & "+"

End If

mess = mess & unk(ii)

messp(lo, 1) = messp(lo, i) & unk(ii)

Case 1

If messp(lo, i) = "" Then

mess = mess & "("

Else

mess = mess & "+

messp(lo, i} = messp(lo, 1) & "+"

End If

mess = mess & unk(ii) & "*"

messp(lo, i) = messp(lo, 1) & unk(ii) & "*"

End Select

Next ii
mess = mess & ")"

Next i

Case 1t 1"
Fori=0 To k(lo)

Forii=0Tonum- 1

Select Case strmum(lo, n(lo), 1, ii)

Case 0
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mess = mess & unk(ii) & "*"

messp(lo, i) = messp(lo, i) & unk(ii) & "*"
Case 1

mess = mess & unk(ii)

messp(lo, i) = messp(lo, i) & unk(ii)

End Select

Next ii

If i <> k(lo) Then
mess =mess & "+;'
EndIf

Next i

End Select
messp(lo, k(1o) + 1) = mess

End Select
End Sub

Sub initail()

Dim i As Integer
Dim j As String
Dim lis As Integer
Dim ii As Integer

Dim aorhj As Integer

lis = List2.ListIndex
If de(lis) > -1 Then
aorhj = hj(lis)

Else
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aorhj = a(lis)
Endlf

Fori=10 To aorhj
Label1{arrays(lis, i} + tnumf).Caption = logic

Next i

Fori=0 To de(lis)
Label1{dcare(lis, i}).Caption = "d"

Next i

If k(lis} = 0 Then
Label5.Caption = messp(lis, 0)

If (aorhj = ((2 ~ num) - 1)) Or (a(lis) = ((2 * num) - 1)) Then

For i = trumf To tnumi
Labell(i}.BackColor = QBColor(10)
Next i

End If

If (aorhj <> -1) And (aorhj <= (2~ num) - 1) Then
For i = 0 To cy(lis, k(lis})

Labell(cycle(lis, k(lis}, i}).BackColor = QBColor(10)
Next i

End1f

Else

If (aorhj <> -1} And (aorhj <> (2 ~ num) - 1) Then
For i= 0 To k(lis)
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Listl,AddItem messp(lis, i)

Next i

j = messp(lis, k(lis) + 1) & " (ALL)"

List]l.Additem j

Label5.Caption = messp(lis, k(lis) + 1)

For i=0 To cy(lis, k(lis) + 1)

Labell(cycle(lis, k(lis) + 1, i)).BackColor = QBColor(10)

Next i

Else
Label5.Caption =messp(lis, 0)
End If

End If

If k(1is) > 0 Then
Command4.Visible = True
End If

If de(lis) = (2 » num) - 1 Then
Command4.Visible = False

End If

If Len(Label5.Caption) > 40 Then
Label5.Width = 7000
Label5.Font.size = 8

List].Width = 7000

End If

End Sub
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Sub fihree()

Dim arr() As Integer
Dim dcar() As Integer
Dim i As Integer

Dim ii As Integer

For i =0 To numout - 1

arr = Form3.continlogic(i)

a(i) = Form3.aa

dcar = Form3.continde(i)

def(i) = Form3.decc
For ii = 0 To a(i)
arrays(i, ii) = arr(ii)
Next ii

Forii=0 To de(i)
dearefi, ii) = dcar{ii)
Nextii

Next i

End Sub

Sub ffour()

Dim arr() As Integer
Dim dcar() As Integer
Dim i As Integer

Dim ii As Integer
Dim sta As String
Dim std As String

Dim X As Intcger

For i=0 To numout - 1
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sta = Form4.Text1(i). Text
arr = Form4.cutnuml(sta)
a(i) = Formd4.a

std = Form4.Text2(i).Text
dcar = Form4.cutnumd(std)
de(i) = Form4.dc

For ii =0 To a(i)

arrays(i, ii) = arr(ij)

Next ii

For ii = 0 To de(i)

deare(i, ii} = dcar(ii) + thumf

Next ii
Next i
End Sub

Sub ffive()
Dim i As Integer
Dim v As Integer

Dim ii As Integer

For i =0 To numout - 1
v=i

a()=-1

de(i) =-1
Forii=0To (2~ num)- 1

Select Case Form5,Label2(v).Caption

Case logic
a(i)=a(i) +1
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arrays(i, a(i}) =ii

Case ""

de(i) =de(i) + 1

deare(i, de(i)) = ii + tnumf
End Select

v=v+4

Next ii

Next i

End Sub

Function fnine(numm As Integer, nummo As Integer)
Dim X As Integer
Dim i As Integer
Dim ii As Integer
Dim lon As Integer
Dim Y As Integer
Dim char As String
Dim add As Integer
Dim addc As Integer
Dim g As Integer
Dim vk As Integer
Dim m As Integer
Dim j(32) As String

alg) = -1
de(g) =-1

lon = Len(Form9.Label 10(0).Caption)



For X =0 Tooutf- 1
addc=0

ForY=1Tolon
vk=0

m=-]

Fori=0To (2 *numm) -1
Forii=0To (2 ~outf) - 1

m=m+1

IfY =1 Then

j(m) = Form9.Label 10(ii + add + addc).Caption
char = Mid$(j(m), Y, 1)

Eise

char = Mid$((m), ‘Y, 1)

End If

Select Case char

Case logic

a(g)=alg) t 1

arrays(g, a(g)) = vk

Case "d"

de(g) = de(g) + 1

dcare(g, de(g)) = vk + tnumf

Case ™"
de(g) = defg) + 1

deare(g, de(g)) = vk + mumf

End Select
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vk=vk+1

Next ii

addc = addc + 24
Next i

g=g+1

a(g) =-1

de(g) = -1
NextY
add=add + 8
Next X

If Form1.0Option4.value = True Then
addc =10

add=0

vk=0

For X =0 To nummo - 1

addc =0

vk=0

Fori=0 To (2 ~ nurnm) - 1

add=0

Forii =0 To (2 " outf) - 1

char = Form9.Label3(X + add + addc).Caption

Select Case char
Case logic
a(g)=a(g) +1

arrays(g, a(g)) = vk

Case "-"

de(g) =de(g) + 1
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deare(g, dc(g)) = vk + thumf

End Select
vk=vk+1
add=add +3
Next ii

addc = addc + 24
Next i
g=g+l
a(gl=-1
de(g) =-1
Next X

End If

End Function

Sub findff(})

Dim i As Integer
Dim X As String
Dim b As Integer

Fori=1To3

If (2 ~ i) >= sta Then
outf =i

Exit For

End If

Next i

Fori=0Tooutf-1

outff(i) = "Q" & str§(outf - 1 - 1)
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Next i

Select Case Form9.typeff
Case 0

X="D"

Casel

X="JK"

Case 2

X="T"

End Select

If X ="JK" Then
Fori=0Tooutf~ 1

inff(b) = "I" & str$(outf - 1 - i)
b=b+1

inffi{b) = "K" & str$(outf - 1 - i)
b=b+1

Next i

inf=>b

Else

Fori=0Tooutf-1

inff{(i) = X & str$(outf - 1 - i)
Next i

inf = outf

End If

End Sub



Private Sub Commandl_Click()
Load Forml10

Form10.5how

Form6.Visible = False

End Sub

Private Sub Command2_Click()
If Form1.Optionl = True Then
Form3.Visible = True

End If

If Form1.Option2 = True Then
Form4.Visible = True

End If

If Forml.Option3 = True Then
Form5.Visible = True

End If

If Form1.0Option4 = True Then
Form9.Visible = True

End If

Unload Formé6

End Sub

Private Sub Command3_Click()
End
End Sub

Private Sub Command4 Click()
If List]l.Visible = Trué Then
ListI.Visible = False

Else
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Listl.Visible = True
End If
End Sub

Private Sub Form_DragDrop(Source As Control, X As Single, Y As Single)
Framel(frameindex).Top =Y - firsty

Framel(frameindex).Left = X - firstx

xy=0

End Sub

Private Sub Form_Load()
Dim i As Imteger

Dim ii As Integer

Dim X As Integer

Dim numm As Integer
Dim s5(15) As String
Dim nummo As Integer
Dim Y As Integer

Dim z As Integer

Dim g As Integer

Dim za As Integer

Dim zz As Integer

Dim j As Integer
If (Form1.Option4.value = True) Or (Form].Option5.value = True) Then

If Form7.Combol.Text = "Minterm" Then
iogic="1"
Else

logic ="0"



End If

unk = Form7.cuts(Form7.Textl.Text)
num = Form7.mum

output = Form7.cuts(Form7.Text2, Text)
numout = Form7.numout

State = Form7.cuts(Form7.Text3.Text)
sta = Form7.sta

findff

nNumm = num
nummeo = nurnout

For i = num To num + outf - 1
unk(i) = outff(i - num)

Next i

nurn = nurm + outf

If Form1.0ptiond.value = True Then
Fori=0Toinf- 1

ss(i) = inff{i)

Next i

For i = inf To numout + inf - 1
ss(i) = output(i - inf)

Next i

numout = numout + inf

For i =0 To numout - 1
output(i) = ss(i)

Next i

Else

Fori=0Toinf-1
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output(i) = inff{i)

Next i

numout = inf
Command].Visible = True

End If

appear

Call foine(numm, nummo)

Else

If Form2.Combol.Text = "Minterm" Then

logic="1"
Else

logic = "0"
End If

unk = Form2.cuts(Form2.Text].Text)
num = Form2.numt
output = Form2.cuts(Form2.Text2, Text)

numout = Form?2,numout

appear

If Form1.0Optionl = True Then
fthree
End If
If Form1.Option2 = True Then

ffour
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End If

If Form1.0Option3 = True Then
ffive

End If

End If

For i=0 To numout - 1
For ii =0 To a(i)

hji(i, ii) = arrays(i, ii)
Next ii

hi(i) = a(i)

Next i

For i = 0 To numout - 1

X =ali)

For ii = 0 To dc(i)

X=X+1

arrays(i, X) = dcare(i, ii} - trumf
Next ii

a(i} =X

Next i

Forlo=0To numott - 1
minform
fcycle

Next lo
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For lo=0 To numout - 1
fmess

Next lo

For i=0 To numout - 1
List2. AddItem output(i)

Next i

List2.ListIndex = 0
oldlist =0

End Sub

Private Sub Framel DragOver(Index As Integer, Source As Control, X As Single, Y As Single,

State As Integer)

If xy = 0 Then
frameindex = Index
firstx = X
firsty=Y

xy=1

End If

End Sub

Private Sub Listl_Click()
Dim i As Integer

Dim lis As Integer

lis = List2.ListIndex



Label5.Caption = messp(lis, List].ListIndex)

For i = mumf To thuml
Labell(i).BackColor = QBColor(15)

Next i

For i = 0 To cy(lis, List].ListIndex)

Labell(cycle(lis, List1.ListIndex, i}).BackColor = QBColor(10)

Next i

List]l.Visible = False
End Sub

Private Sub List2_Click()

Dim i As Integer

For i = tnumf To tnuml
Label1(i).Caption = ""
Label1(i).BackColor = QBColor(15)

Next i

If List1.ListCount > 0 Then
Fori=0 To k(oldlist) + 1
List].Removeltem k(oldlist) -+ 1 -1
Next i

End If

Command4.Visible = False

oldlist = List2.ListIndex

initail
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End Sub

Form7 (613301303007 19 1WA,1011 %)

T

bl name o J Avlo Inpud
PR e

Gl pet nanme P—— g Austo Ouipul
- name

HEate name K% Autn Htate
narne

vefect Temmn

Optioni

Public numout As Integer
Public num As Integer
Public a As Integer

Dim ftextok As Integer
Dim stextok As Integer
Dim combook As Integer
Dim inp As Integer
Public sta As Integer

Dim valueok As Integer
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Public Function cuts(st As String) As String()
Dim lon As Integer

Dim i As Integer

Dim ii As Integer

Dim numm As Integer

Dim puk As String

Dim va As String

Dim kk As String

Dim repeat As Integer

Dim unk() As String

ReDim unk(2Q)

repeat =0

fiextok =0

numm = 0

Kk = ™

lon = Len(st)

Iflon =0 Then

If Not (st Like Text].Text) Then
MsgBox ("faiAndldsans")
Exit Function

End If

Else

Fori=1Tolon

puk = Left$(st, 1)

va = Right$(puk, 1)

Ifva="," Then

If kk <= "" Then

unk{numm) = kk

numm = numm + 1

kk = 1w
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Else

MsgBox ("fnt L lddulsniedandn Tuunsum)
Exit Function

End If

Else

If va<>"" Then

If Not ((va>="0") And (va <="9")) Then

kk=kk & va

Else

MsgBox ("you should not define input,output is number")
Exit Function

End If

End If

End If

Next i

End If

Ifkk <= "" Then
unk(numm) = kk
numm = numm + 1

End If

If st Like Text].Text Then

If numm > 3 Then

MsgBox ("you have input 0 to 3")
Exit Function

EndIf

End If

If st Like Text3.Text Then
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If numm > 8 Then

MsgBox ("you have state 1 to 8")
Exit Function

End If

End If

If st Like Text2.Text Then

If numm > 3 Then

MsgBox ("you have output 1 to 3")
Exit Function

End If

End If

Fori=0 Tonumm- 2
Forii=i+ 1 To numm- 1
If unk(i) = unk(ii) Then
repeat = 1

End If

Next ii

Next i

If repeat = 1 Then

MsgBox ("you can not put same input or output")
Exit Function

End If

If st Like Text1.Text Then

num = numm

Else

numout = numrmn

End If



fiextok =1

If st Like Textl.Text Then
inp = numm

End If

If st Like Text3.Text Then
sta = numm

End If

cuts = unk

End Function

Sub checkvalue()
Dim s As Integer

Dim i As Integer

valueok =0

Fori=1To3

If sta <= (2 ~ i) Then

5=1

Exit For

End If

Next i

If ((s + inp) = 1) Or ((s + inp) > 5) Then

MsgBox ("input add state(flip-flop) must have 2 to 5")
Exit Sub

End If

valueok = 1
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End Sub

Sub checkcombo()

combook =0

If Combol.Text << "" Then
combook =1

Else

MsgBox ("you must choose term™)
End If

End Sub

Private Sub Combo2_Click()
Select Case Combo2.Text
Case "1"

Textl.Text = "S"

Case "2"

Textl. Text="S,T"

Case "3"
Textl.Text="S,T,U"
Case "4"

Textl. Text ="S,T,U,V"
End Select

End Sub

Private Sub Combo3_Click()
Select Case Combo3.Text
Case"1"

Text2. Text="2"

Case "2"

Text2. Text="Y,Z"
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Case "3"

Text2.Text ="X,Y,Z"
Case "4"

Text2.Text ="W,X,Y,Z"
End Select

End Sub

Private Sub Commandl Click()
Dim un() As String

un = cuts(Text1.Text)

If ftextok = 1 Then
checkcombo

End If

If (ftextok = 1) And (combook = 1) Then |

un = cuts(Text2, Text)

If ftextok = 1 Then
checkcombo

End If

If (ftextok = 1) And (combook = 1) Then
Load Form3

Form3.Show

Form?2.Visible = False

End If

End If
End Sub
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Private Sub Command2_Click()
Dim un() As String

Dim i As Integer

un = cuts{Text1.Text)

If ftextok = 1 Then
checkcombo

End If

If (ftextok = 1) And (combook = 1) Then

un = cuts(Text2.Text)

If fiextok = 1 Then
checkcombo

End If

If {ftextok = 1) And (combook = 1) Then
Load Form8

Form8.Show

Form2.Visible = False

End If

End If

For i = 0 To numout - 1
Formd4.Labell(i).Visible = True
Form4.Label2(i).Visible = True
Form4.Text1(i).Visible = True
Form4.Text2(i). Visible = True



Formd4.Label 1(i).Caption = un(i)

Next i

End Sub

Private Sub Combo4_Click()
Dim g As Integer

Dim i As Integer

Text3. Text=""

g = Asc("A")

g=g-1

For i=0 To Combo4.ListIndex
g=g+l

If i = Combo4.ListIndex Then

Text3.Text = Text3.Text & Chr$(g)

Else

Text3.Text = Text3.Text & Chr$(g) & "

End If
Next i
End Sub

Private Sub Command3 Click()
Unload Forml

Load Forml

Form1,Show

Unload Form?7

End Sub
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Private Sub Command4_Click()
Dim inn() As String

Dim oun() As String

Dim stn() As String

Dim i As Integer

Dim ii As Integer

Dim dc As Integer

Dim dear() As Integer

If Textl.Text ="" Then
i=i+1

End If

If Text2.Text ="" Then
i=i+1

End If

If Text3.Text = "" Then
i=i+1

End If

Ifi> 1 Then

MsgBox ("you must put value")
Exit Sub

End If

inn = cuts(Textl.Text)

If ftextok = 1 Then

oun = cuts(Text2.Text)
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EndIf

If ftextok = 1 Then

stn = cuts(Text3.Text)

End If

checkcombo

If (ftextok = 1) And (combook = 1) Then
checkvalue

If valueok = 1 Then

Fori=0 Tonum - 1

For ii = 0 To numout - 1

If inn(i) Like oun(ii) Then

MsgBox ("inputname and outputname has same™)

Exit Sub

End If

Next ii

Forii=0Tosta-1

If inn(i) Like sin(ii) Then

MsgBox ("inputname and statename has same™)
Exit Sub

End If

Next il

Next i

For i=0 To numout - 1

Forii=0Tosta- 1

If oun(i) Like stn(ii) Then

MsgBox ("outputname and statename has same”)
Exit Sub

End If
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Next ii

Nexti

Load Form8
Form8.Show
Form7.Visible = False
End If

End If

End Sub

Private Sub Command5_Click()
End

End Sub

Private Sub Form_Load()
num =0

numout =0

End Sub

Form8 (A1HaadHa)

Dim numout As Integer
Dim output() As String
Dim unk() As String
Dim num As Integer
Dim State() As String

Dim sta As Integer
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Function binary(z As Integer) As Integer()
Dim gg As Integer

Dim kg As Integer

Dim strr() As Integer

Dim numont As Integer

Dim output() As String

Dim unk{} As String

Dim num As Integer

Dim State{) As String

Dim sta As Integer

Function binary(z As Integer) As Integer()
Dim gg As Integer

Dim kg As Integer

Dim strr() As Integer

Dim numout As Integer
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Dim output() As String

Dim unk(} As String

Dim num As Integer

Dim State() As String

Dim sta As Integer

Function binary(z As Integer) As Integer()
Dim gg As Integer

Dim kg As Integer

Dim strr() As Integer

ReDim strr(num)

gg=2"(num - 1}

Do While Not ((gg = 0} And (z=0))
z=2-g¢g

If z>= 0 Then

strilkg) =1

kg=kg+1

Else

strr(kg) = 0
ke=kg+1
z=z+gg
End If
gg=gg/2
Lcop

binary = strr

End Function

Private Sub Commandl_Click(}

Form8.Visible = False



Function binary(z As Integer) As Integer()
Dim gg As Integer

Dim kg As Integer

Dim strr() As Integer

ReDim strr(nurm)

gg=2"(num- 1)

Do While Not ({(gg = 0) And (z=0))
z=z-gg

If z>=0 Then

strr(kg) = 1

kg=kg+1

Else

strr(kg) =0
kg=kg+1
z=z+gg
End If
gg=gg/2
Loop

binary = stir

End Function

Private Sub Commandl_Click()
Form8.Visible = Faise

Load Form9

Form9.8how

End Sub

Private Sub Command?_Click()
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Unload Form7
Load Form7
Form7.Show
Unload Form§8
End Sub

Private Sub Command3_Click()
End
End Sub

Private Sub Form_Load()
Dim i As Integer

Dim ii As Integer

Dim X As String

Dim bi() As Integer

Dim Y As String

Dim value As Integer
Dim shift As Integer
Dim bb As Integer

Dim h As Integer

unk = Form7.cuts(Form7.Textl.Text)

mum = Form7.num

output = Form7.cuts{Form7.Text2. Text)

numout = Form7.numout

State = Form7.cuts(Form?7.Text3.Text)

sta = Form7.sta

For ii =0 To numout - 1

Fori=0Tosta-1

145



Label5(i + h).Visible = True
Label5(i + h + 24) Visible = True
Next i

h=h+8

Next ii

Fori=0Tosta-1

Label 1(i).Visible = True

Label 1(i).Caption = State(i)
Label1(i + 8).Visible = True
Label 1(i + 8).Caption = State(i)

Next i

If Form1.Option4.value = True Then
Frame1(0).Caption = Frame1(0).Caption & "/"
Framel(1).Caption = Frame1(1).Caption & "/"

For i =0 To numout - 1

Framel(0).Caption = Frame1{0).Caption & output(i)
Framel(1).Caption = Frame1(1).Caption & output(i)
Next i

End If

Fori=0Tonum- 1
X =X & unk(i)

Next i

If num <> Q Then
Fori=0To(2 " num) - 1
Frame3(i).Visible = True

Frame3(i).Caption=" "& X & "="
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bb=i

bi = binary(bb)

‘Forii=0Tonum - 1

Y = str$(bi(ii))

Frame3(i).Caption = Frame3(i).Caption & Y
Next ii

Next 1

Else

Frame3(0).Visible = True

End If

If num < 3 Then

Frame1(0). Width = Frame 1(0). Width - (1320 * (5 - (2 ~ num)))
Frame4(0).Left = Frame4(0).Left - (1320 * (4 - (2 * num)))
End If

If num = 1 Then

Framel(0).Caption =" " & Framel(0).Caption

End If | |

If (num = 2) Or (num = 3) Then

Framel{0).Caption =" "& Framel(O).Captiqn
End If

value = sta * (2 ~ num)

For i=0 To numout - 1

add=0
shift=0
bb=0

Forii=0Tovalue-1



If bb = sta Then

shift = shift + 8

bb=0

add=0

End If

Label2(bb + shift).Visible = True

If Form.Optiond.value = True Then
Label4({bb + shift).Visible = True

Label3(i + add + (3 * shift)).Visible = True

Else

Label2(bb + shift).Left = 480
End If

add=add +3

bb=bb +1

Next ii

Next i

If num <3 Then
Listl.AddItem "State Table"
Else

Listl.AddItem "State Tabiel"
Listl_.AddItem “State Table2"
End If

1f Form1.Option5.value = True Then

If num < 3 Then

Framel(0).Width = Frame1(0).Width + 1320

End If

For i =0 To numout - 1

Frame4(0).Caption = Frame4(0).Caption & output(i)
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Frame4{(1).Caption = Frame4(1).Caption & output(i)

Next i

End If
Listl.ListIndex =0
End Sub

Private Sub Label2_Click(Index As Integer)
Select Case Label2(Index).Caption

Case State(sta - 1)
Label2(Index).Caption = "-"

Cage "-"

Label2(Index).Caption = State(0)

Case Else

Fori=0Tosta-2

If State(i) = Label2(Index).Caption Then
Label2(Index).Caption = State(i + 1)
Exit For

End If

Next i

End Select

End Sub

Private Sub Label3_Click(Index As Integer)
Select Case Label3(Index).Caption

Case "-" |

Label3(Index).Caption = "0"

Case "1"

Label3(Index).Caption ="-"

Case "0"

Label3(Index).Caption = "1"
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End Select
End Sub

Private Sub Label5_Click(Index As Integer)

Select Case Label5(Index).Caption

Case
Label5(Index).Caption = "0"
Case "1"
Label5(index).Caption = "-"
Case "0"
Label5(Index).Caption = "1"
End Select

End Sub

Private Sub Listl_Click()
Dim i As Integer
Fori=0To1l
Frame!(i).Visible = False

Next i

Framel(Listl.ListIndex).Visible = True

End Sub

Form9 (2 UUaAIHA)

Dim numout As Integer
Dim output() As String
Dim unk() As String
Dim num As Integer

Dim State() As String
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: Dim sta As Integer

Dim outff(5) As String

Dim outf As Integer

Dim inff(10) As String

Dim inf As Integer

Public typeff As Integer
Dim flipflop(3, 2, 2) As String

Function stonum(st As String, z As Integer) As String
Dim lon As Integer

Dim va As String
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va = Left$(st, z)
va = Right$(va, 1)

stonuim = va

End Function

Function binary(z As Integer) As Integer()
Dim gg As Integer

Dim kg As Integer

Dim strr() As Integer

ReDim strr{outf)

gg =2 " (outf - 1)

Do While Not ((gg =0) And (z=0))
2=2-gg

If z>= 0 Then
strr(kg) = 1
kg=kg+1
Else

strr(kg) = 0
kg=kg+1
z=z+gg
EndIf
gg=gg/2
Loop

binary = strr

End Function



Sub stassign()

Dim { As Integer
Dim bb As Integer
Dim bi() As Integer

Dim Y As String

Fori=0To outf- 1

Frame4.Caption = Frame4.Caption & outff{i}

Next 1

Fori=0 Tosta-1
Label5(i).Visible = True
Label6(i).Visible = True
Label3(i).Caption = State(i)
Label6(i).Caption = ""
bb=i

bi = binary(bb)

Forii=0 Tooutf- 1

Y = str(bi(ii))
Label6(i).Caption = Label6(i).Caption & Y
Next ii

Next i

End Sub

Sub findff{)
Dim i As Integer
Dim X As String

Dim b As Integer
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Fori=1To3

If (2~ i) >=sta Then
outf=1i

Exit For

EndIf

Next 1

Fori=0Tooutf-1
outff{(i} = "Q" & str$(outf- 1 - i)

Next i

Select Case typeff
Case 0

X="p"

Case 1

X="JK"

Case 2

X="T"

End Select

If X ="JK" Then
Fori=0Tooutf- 1

inff(b) = "J" & str$(outf - 1 - i}
b=b+1

inff(b} = "K" & str¥(outf - 1- 1)
b=b+1

Next i

inf="b



Else

Fori= 0 To outf- 1

inff(i) = X & str$(outf- 1 - i)
Next i

inf = outf

EndIf

End Sub

Sub trantable()

Dim i As Integer
Dim outx As String
Dim numx As String
Dim X As String
Dim bb As Integer
Dim bi() As Integer
Dim add As Integer
Dim Y As String
Dim dd As Integer

Dim h As Integer

For ii = ( To numout - 1

Fori=0Tosta- 1

Label11(i + h).Caption = Form8.Label5(i + h).Caption
Label11(i + h + 24).Caption = Form8.Label5(i + h + 24).Caption
Label11(i + h).Visible = True

Labell1{i + h + 24).Visible = True

Next i

h=h+8

Next ii
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Fori=0To outf- 1

outx = outx & outfi(i)
Next i

For i = 0 To numout - 1
numx = numx & output(i)
Next i

Fori=0Tonum- 1

X =X & unk(i)

Next i

Label7(0).Caption = outx
Label7(1).Caption = Label7(1).Caption & outx

Fori=0Tosta-1

Labell(i).Caption = Label6(i).Caption
Label 1(i + 8).Caption = Label6(i).Caption
Label 1(i}.Visible = True

Labell(i + 8).Visible = True

Next i

If num = 3 Then
dd=2

Else

dd = mum

EndIf
Fori=0To (2~ dd)- 1

Forbb=0Tosta- 1
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Label2(add + bb).Visible = True
Label2(add + bb + 32).Visible = True
If Form1.Option4.value = True Then
Label4(add + bb).Visible = True
Label4{add + bb + 32).Visible = True
Else

Label2(add + bb).Left = 480

End If

Next bb

add=add + 8

Next i

Frame1(0).Caption = Framel(0).Caption & "(" & outx & ")"

Framel(1).Caption = Framel(1).Caption & "(" & outx & ")"

If Form1.Optiond.value = True Then
Framel(0).Caption = Frame1(0).Caption & "/" & numx
Framel(1).Caption = Framel(1).Caption & "/" & numx

End If

If num < 3 Then

Framel(O).Width = Framel(0).Width - (1560 * (5 - (2 ~num)))
Frame9(0).Left = Frame9(0).Left - (1560 * (4 - (2 ” num)))
EndIf

If num = 1 Then

Framel(0).Caption=" " & Framel(0).Caption
End If

If (hum = 2) Or (nurn = 3) Then

Frame1(0).Caption = " " & Framel(0).Caption

End If

157



If num <> 0 Then
Fori=0To (2" num)- 1
Frame3(i).Visible = True
Frame3(i).Caption=" "& X &"="

bb=1i

bi = Forms.binary(bb)

Forii=0Tonum- 1

Y = stré(bi(ii))

Frame3(i).Caption = Frame3(i).Caption & Y
Next ii

Next i

Else

Frarme3(0).Visible = True

End If

Fori=0To 191
Label3(i). Visible = Form8.Label3(i).Visible
Label3(i).Caption = Form8.Label3(i).Caption

Next i

Fori=0To 63

If Form8.Label2(i).Caption = "-* Then
Label2(i).Caption = "-"

Else

Forbb=0Tosta-1

If Form8.Label2(i).Caption = State(bb) Then
Label2(i).Caption = Label6(bb).Caption

Exit For
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EndIf
Next bb
EndIf

Nexti

If Form1.Option3.value = True Then

If num < 3 Then

Frame1(0). Width = Framel1(0).Width + 1560
End If

Frame9(0).Caption = Frame9(0).Caption & numx
Frame9(1).Caption = Frame9(1).Caption & numx
End If

End Sub

Sub excitable()

Dim i As Integer
Dim outx As String
Dim numx As String
Dim X As String
Dim bt As Integer
Dim bi() As Integer
Dim cc As Integer
Dim Y As String
Dim value As Integer
Dim ii As Integer
Dim dd As Integer
Dim add As Integer
Dim addc As Integer
Dim addt As Integer
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Dim addce As Integer
Dim adde As Integer
Dim PS As Integer
Dim NS As Inteper
Dim PSS As String
Dim NSS As String

Fori=0Tooutf- 1

outx = outx & outffli)
Next i

For i= 0 To numont - 1
numx = numx & output(i)
Next i
Fori=0Topum -1

X =X & unk(i)

Next i

Fori=0Tosta-1

Label8(i).Caption = Label6(i).Caption
Label8(i + 8).Caption = Label6(i).Caption
Label8(i). Visible = True

Label8(i + 8).Visible = True

Next i

Label9(0).Caption = outx

Label9(1).Caption = Label9{1).Caption & outx

If num = 3 Then

Else

dd = num



End If

Fori=0To(27dd)-1

add=0

Forii=0Tooutf-1

Forbb=0Tosta- 1

Label10(add + adde + bb).Visible = True
Label10(add + addc + bb + 96).Visible = Tru_e
Next bb

add =add + 8

Next ii

addc = addc + 24

Next i

If pum < 3 Then

Frame5(1).Width = Frame5(1). Width - (2160 * (4 - (2 ~ num)))
End If

ii=1

If outf < 3 Then

Fori=0To (2~ dd)-1

Frame7(i). Width = Frame7(i). Width - ((3 - outf) * 720)

If(i+ 1) <=3 Then

Frame7(i + 1).Left = Frame7(i + 1).Left - (ii * ((3 - outf) * 720))

End If

ii=ii+1

Next i

Frames(1).Width = Frame5(1). Width - ((((3 - outf) * (2 ~ dd)) * 720))
ii=1

Fori=4To7
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Frame7(i). Width = Frame7(i). Width - ((3 - outf) * 720)

If (i +1) <=7 Then

Frame7(i + 1).Left = Frame7(i + 1).Left - (ii * ((3 - outf) * 720))

End If

ii=ii+1

Next i

Frame5(0). Width = Frame5(0). Width - ((3 - outf) * (2~ dd)) * 720))
End If '

Select Case outf

Casel

X=X&"="

Case 2

X=" "&X&"="
Case 3

X=" “&X&"="
End Select

If aum << 0 Then
Fori=0To(2“num) -1
Frame7(i).Visible = True
Frame7(i).Caption = X
bb=1

bi = Form8.binary(bb)
Forii=0Tonum - 1

str$ (bi(ii))

Y = str$(bi(ii))
Frame7(i).Caption = Frame7(i).Caption & Y
Next ii

Next i



Else

Frame7(0).Visible = True
End If

add=0

Fori=0To(2"num)-1

dd=0

cc=0

If inf = outf Then
Forii=0Toinf- 1

Frame8(cc + add).Caption = inff{ii)
Frame8{cc + add).Visible = True
cc=cc+1

Next ii

Else

Forii= 0 To outf - 1

Forbb=0To 1

Frame8{cc + add).Caption = Frame®(cc + add).Caption & inff{dd)
Frame8(cc + add).Visible = True
dd=dd+1

Next bb

cc=cct+1

Next ii

End If

add=add +3

Next i

Fori=0To(2”num)-1
adde=0

Forii=1 To outf
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Forcc=0Tosta-1

bb=ii*2

PSS = stonum(Label 1{cc).Caption, bb)

NSS = stonum(Label2(cc + addt).Caption, bb)

If NSS Like "-" Then

If typeff=1 Then

Label10(adde + addce + cc).Caption = "dd"
Else

Labell0(adde + addce + cc).Caption = "d"
End If

Else

PS = Val(PSS)

NS = Val(NSS)

Label10(adde + addce + cc).Caption = flipflop(typeft, PS, NS)
End If-

Next cc

adde=adde + 8

Next ii

‘addt = addt + 8

addce = addce + 24

Next i

End Sub

Sub putfi()

flipflop(0, 0, 0) = "0"
flipflop(0, 0, 1) = "1"
flipflop(0, 1, 0) ="0"
flipflop(0, 1, 1) ="1"
flipflop(1, 0, 0) = "0d"
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flipflop(1, 0, 1) ="1d"
flipflop(1, 1, 0) ="d1"
flipflop(1, 1, 1) ="do"
flipflop(2, 0, 0) = "0"
flipflep(2, 0, 1) ="1"
flipflop(2, 1, 0) ="1"
flipflop(2, 1, 1) = "0"
End Sub

Private Sub Commandl_Click()
Form9.Visible = False

Load Formé

Formé.Show

End Sub

Private Sub Command2_Click()
Unload Form8

Load Form8

Form8.Show

Unload Form9

End Sub

Private Sub Command3 Click()
End
End Sub

Private Sub Form_Load()

unk = Form7.cuts(Form7.Textl. Text)
num = Form7.num

output = Form7.cuts(Form7.Text2. Text)

numgout = Form7.numout
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State = Form7.cuts(Form?7.Text3. Text)

sta = Form7.sta

If Form?7.0ptionl.value = True Then
typeff=2

End If

If Form7.0ption2.value = True Then
typeff=1

End If

If Form7.0ption3.value = True Then
typeff=0

End If

putff

findff

stassign

trantable

excitable

If num < 3 Then

Listl.AddItem "State Assignment"
Listl.Addltem "Transition Table"
Listl Addltem "Excitation Table"
Else

Listl.Addltem "State Assignment”
Listl.AddItem "Transition Tablel"
Listl.AddItem "Excitation Tablel"
Listl.AddItem "Transition Table2"
Listl.AddItem "Excitation Table2"
End If

Listl ListIndex =0

End Sub
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Private Sub Listl Click()
Frame4.Visible = False
Frame1(0).Visible = False
Frame5(1).Visible = False
Framel{1).Visible = False
Frame5(0).Visible = False

Select Case List].ListIndex
Case 0

Frame4.Visible = True
Case 1
Frame1(0).Visible = True
Case 2
Frame5(1).Visible = True
Case 3

Framel(1).Visible = True
Case 4

Frame5(0). Visible = True
End Select

End Sub

Form10 (e 21aa90Ha)

Dim choice As Integer
Dim schoice(9) As Integer
Dim lo As Integer

Dim numout As Integer
Dim output() As String
Dim dc(12) As Integer
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Dim unk(9) As String
Dim num As Integer

Dim tnumf As Integer

outpul name

Birreniy Luyse

Dim tnuml As Integer

Dim k{4, 12) As Integer

Dim a(12) As Integer

Dim hj(12) As Integer

Dim hjj(12, 32) As Integer

Dim n(4, 12) As Integer

Dim arrays(12, 32} As Integer

Dim stroum(4, 12, 10, 100, 5) As Integer
Dim cycle(4, 12, 100, 100) As Integer
Dim cy(4, 12, 100} As Integer
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Dim cy(4, 12, 100) As Integer
Dim messp(12, 50) As String
Dim logic As String

Dim firstx As Integer

Dim firsty As Integer

Dim xy As Integer

Dim State() As String

Dim sta As Integer

Dim frameindex As Integer
Dim oldlist As Integer

Dim outff(5) As String

Dim outf As Integer

Dim inff{10} As String

Dim inf As Integer

Function checkdo(use() As Integer, u As Integer} As Integer
Dim z As Integer

Dim zz As Integer

Dim zi As Integer

Dim arr(32) As Integer
Dim aa As Integer

Dim yes As Integer

Dim out As Integer

Dim str(30, 5) As Integer
Dim cyc(30, 35) As Integer
Dim cyy(35) As Integer
Dim h(32) As Integer

Dim bb As Integer

yes=1{



out=10

Forz=0Tou

For zz = 0 To cy{choice, lo, use(z))

For zi =0 To a(lo)

If cycle{choice, lo, use(z), zz) = (arrays(lo, zi) + tnumf) Then
arr(zi) =1

End If

Next zi

Next zz

Next z
If choice = 1 Then

Forz=0Tou

For zz = 0 To cy(choice, 1o, use(z))

For zi = 0 To hj(lo)

If cycle(choice, lo, use(z), zz) = (hjj(lo, zi) + tnumf) Then
h(zi) = 1 '

End If

Next zi

Next zz

Nextz

For z=0To hj(lo)
Ifh(z) = 1 Then
bb=bb+1

170



End If

Next z

End If

For z=10 To a(lo)
If arr(z) = 1 Then
aa=aa+1

End If

Next z

If choice = 1 Then

If (aa = a(le)) And (bb = hj(io)) Then

yes = |
out=1

End If

Else

If (aa = a(lo)) Then
yes =1

out=1

End If

End If

If yes =1 Then
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Forz=0Tou

Forzz=0Tomum- 1

str(z, zz) = strmum(choice, 1o, n{choice, 10), use(z), zz)
Next zz

For zz = 0 To cy(choice, lo, use(z))

cyc(z, zz) = cycle(choice, lo, use(z), zz)

Next zz

cyy(z) = cy(choice, lo, use(z))

Nextz

Forz=0Tou

For zz= (0 To num - 1

strnum(choice, lo, n(choice, lo), z, zz) = str(z, zz)
Next zz

For zz =0 To cyy(z)

cycle(choice, lo, z, zz) = cyc(z, zz)

Next zz

cy(choice, lo, z) = cyy(z)

Next z

k(choice, lo) =u

End If

checkdo = out
End Function
Sub checkdcare()
Dim i As Integer

Dim ii As lnteger

Dim X As Integer



Dim numdon As Integer
Dim str(30, 5) As Integer
Dim cyc(30, 35) As Integer
Dim cyy(35) As Integer
Dim u As Integer

Dim use(20) As Integer
Dim z As Integer

Dim zz As Integer

Dim ken As Integer

Dim ryu As Integer

Dim same As Integer
Dim isthis As Integer
Dim ¢ As Integer

Dim sho(20) As Integer
Dim gon(32, 32) As Integer
Dim g(32) As Integer
Dim s As Integer

Dim t As Integer

Dim w As Integer

Dim che As Integer

Dim g As Integer

Dim lee(32) As Integer
Dim r As Integer

Dim every As Integer

For i = 0 To k{choice, 10)

numdon = -1
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For ii = 0 To cy(choice, lo, 1)

For X =0 To dc(lo)

If cycle(choice, 1o, i, i1) = dcare(lo, X) Then
numdon = numdon + 1

End If

Next X

Next ii

If numdon <= cy(choice, 1o, 1) Then
u=u+l

usefu) =1i

End If

Next i

If u < k(choice, 1o) Then

Ifu <> -1 Then

Forz=0Tou

Forzz=0Tomum - 1

str(z, zz) = strnum(choice, lo, n(choice, lo), use(z), zz)
Next zz

For zz =0 To cy(choice, lo, use(z))

cyclz, zz) = cycle(choice, 1o, use(z), zz)

Next zz |

cyy(z) = cy(choice, lo, use(z))

Next z

Forz=0Tou
Forzz=0Tonum- 1
strnum{choice, lo, n(choice, o), z, zz) = str(z, zz)

Next zz
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For zz =0 To cyy(z)

cycle(choice, lo, z, zz) = cyc(z, zz)
Next zz

cy(choice, lo, z) = cyy(z)

Next z

k(choice, 10) =u

Else

a(lo) = -1
EndIf
End If

same=-]

Fori=0Toa(lo)

For ii= 0 To dc(lo)

If arrays(lo, i) = dcare(lo, ii) Then
same = same + 1

End If

Next ii

Next 1

For X =0 To k(choice, lo) - 1
For z=X + 1 To k{choice, lo)

If cy(choice, lo, X) = cy(choice, lo, z) Then

every =1
Else
every =0
End If

Nextz
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Next X

If same < a(lo) Then

For i = 0 To k(choice, lo)

ken=10
same =0
isthis=0

For ii = 0 To cy(choice, lo, 1)

For X =0 To dc(lo)

If ¢ycle(choice, lo, i, ii) = deare(lo, X) Then
isthis=1

End If

Next X

Next ii

If isthis = 1 Then

For X = 0 To cy(choice, lo, i)

c=0

ryu=0

For Y =0 To de(lo)

If cycle(choice, lo, i, X) = deare(lo, Y) Then
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ken=ken+1

For z= 0 To k(choice, 10)

sho(z) = 0

For zz = 0 To cy(choice, lo, z)

If cycle(choice, lo, i, X) = cycle(choice, 1o, z, zz) Then
sho(z) = shofz) + 1

ryu=ryu+1

End If

Next zz

Next z

If ryu> 1 Then
same = same + 1
End If

End If

Next X
Else
same = 1

End If

If (same <> ken) Or (every = 1) Then

che=0

Ift <= -1 Then
Forq=0Tot
lee(q) = -1
Next q

For s = 0 To cy(choice, lo, 1)



For w =0 To hj(lo)

If cycle(choice, lo, 1, s} = (hjj(lo, w) + tnumf) Then
Forq=0Tot

Forr =0 To g(t)

If gon(q, r} = cycle(choice, 1o, i, s} Then
lee(q) =lee(q) +1

End If

Nextr

Next q

End If

Next w

Nexts

Fors=0Tot

If lee(s) = g(s) Then
che=1

End If

Nexts

End If

If che = 0 Then

t=t+1

gt)=-1

For s = 0 To cy(choice, io, i)

For w = 0 To hj(lo) )

If cycle(choice, lo, i, 5) = (hjj(lo, “;) + tnumf) Then
g =gl +1

gon(t, g(t)} = cycle(choice, lo, i, 5)

End If

Nextw
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Next s
u=u-+1
use(u) =1

EndIf

Else
For X =1+ 1 To k{choice, l0)
If same = sho(X) Then

che=0

Ift<>-1Then

Forq=0Tot

lee{q) =-1

Next q

For s = 0 To cy(choice, lo, i)

For w =0 To hj(lo)

If cycle(choice, lo, i, s) = (hjj(lo, w) + tnumf) Then
Forq=0Tot

Forr =0 To g(t)

1f gon{q, r) = cycle(choice, lo, 1, s) Then
lee(q) =lee(q) + 1

End If

Nextr

Next q

End If

Next w

Nexts

Fors=0Tot
If lee(s) = g(s) Then
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che=1
End If
Nexts
End If

If che = 0 Then
t=t+1

o) =-1

For s =0 To cy(choice, Io, i)

For w =0 To hj(lo)

If cycle(choice, lo, 1, 5) = (hjj(lo, w) + tnumf) Then
g(t) = g®) + 1

gon(t, git)) = cycle(choice, lo, i, )
End If

Next w

Nexts

u=u+1l

use(u) =X

End If

End If

Next X

End If

Next 1

If u <> k(choice, 10) Then

If u <= -1 Then
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Forz=0Tou

Forzz=0Tonum- 1

str(z, zz) = stmum(choice, 1o, n(choice, lo), use(z), zz)
Next zz

For zz = 0 To cy{choice, lo, use(z))

cyc(z, zz) = cycle(choice, lo, use(z), zz)

Next zz

cyy(z) = cy{choice, lo, use{z))

Next z

Forz=0Tou

Forzz=0Tonum - 1

strmum(choice, lo, n(choice, 10), z, 2z) = str{z, zz)
Next zz

For zz=0 To cyy(2)

cycle{choice, lo, z, zz) = cyc(z, zz)

Next zz

cy{choice, lo, z) = cyy(z).

Next z

k{choice, lo) =u
Else

allo) =-1

End If

End If

End If

End Sub



Sub feyele()

Dim i As Integer

Dim add As Integer
Dim size As Integer
Dim ii As Integer

Dim match As Integer
Dim X As Integer

Dim xx As Integer

Dim z As Integer

Dim sum(100) As Integer
Dirn sumpair As Integer
Dim sumall As Integer
Dim u As Integer

Dim use(100) As Integer
Dim out As Integer

Dim s As Integer

Dim sumpuk As Integer
Dim zz As Integer

Dim zi As Integer

Dim za As Integer

Dim zb As Integer

Dim yes As Integer

Dim compare As Integer
Dim nub As Integer
Dim zg As Integer

Dim doo As Integer

out=10

If ((a(lo) <= -1) And (a(lo) << ({2 * num) - 1))) Then
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For i =0 To k(choice, lo)

add=0

size =-1

Forii=0To mum- 1

If strnum(choice, lo, n{choice, lo), i, ii) =-1 Then

size = size + 1

cycle(choice, 1o, i, size) =2 * (num - 1 - ii)

Else

add = add + (strnum(choice, lo, n(choice, 10), 1, i1} * (2 ~ (num - 1 - #{)))
End If

Next il

§ = size

ForX=0Tos-1

Forxx=X+1Tos

size = size + 1

cycle(choice, lo, i, size) = cycle(choice, 1o, 1, X) + cycle(choice, lo, 1, xx)
Next xx

Next X

Formatch=1 Tos- 1

For X=0Tcs - 1-match

Forxx =X+ 1 Tos - match
‘ s{nnpair = cycle(choice, lo, i, X)

For z=xx To xx + match - 1

sumpair = sumpair + cycle(choice, lo, i, z)

Next z
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Forzz=zTos

size = size + 1

cycle(choice, lo, i, size) = sumpair + cycle(choice, 1o, i, zz)
Next zz

Next xx

Next X

Next match

size =size + 1

cycle(choice, lo, i, size) = 0
For X =0 To size
cycle(choice, lo, i, X) = cycle(choice, lo, i, X) + add + tnumf

Next X

cy(choice, lo, i) = size

Next i

If (k(choice, lo) <= 0) And (k(choice, lo) < 1) Then

For i = 0 To k(choice, 1o)

sum(i) =0

For ii = 0 To cy(choice, lo, i)

sum(i) = sum(i) + cycle(choice, 1o, i, ii)
Next ii

Next i

sumall=0



Fori=0 To a(lo)
sumall = sumail + arrays(lo, i} + thumf

Next i

For i=0 To kichoice, 1o) - 1
sumpair =

u=-1

u=u+l

use(u) =i

sumpair = sumpair + sum(i)
For ii =i+ 1 To k{choice, 10)
u=u+tl

use(u) =i

If ((sumpair + sum(ii)) = sumall) Then
out = checkdo(use(), u)

End If

If out =1 Then

Exit For

End 1f

u=u-1

Next ii

If out = 1 Then

Exit For

End 1f

Next i

If out = 0 Then
For match = 1 To k(choice, lo} - 1

For i =10 To k(choice, lo) - | - match
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For xx =1+ 1 To k{choice, 10) - match + 1

use(u) =1
sumpair = sum(i)

Forz=xx Toxx + match - 1

u=u+l
use(u) =z
sumpair = sumpair + suni(z)

Next z

For ii = z To k{choice, lo)
u=u+l

use(u) =ii

Forzz=0Tou-1

Forzi=zz+1Tou

If cy(choice, lo, zz} > cy(choice, lo, zi) Then

compare = cy(choice, lo, zi) + 1
Else

compare = ¢y(choice, lo, zz) + 1
End If

nub=0

For za = 0 To cy(choice, lo, zz)

For zb = 0 To ¢y(choice, lo, zi)

. I1f cycle{choice, lo, zz, za) = cycle(choice, lo, zi, zb) Then

nub=nub+1

End If
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Next zb

Next za

If (nub > 0) And (nub < compare) Then
yes=1

End If

Next zi

Next zz

If ((surnpair + sum(i_i) = sumall) Or (yes = 1)) Then

If u <= k(choice, 10) Then
out = checkdo(use(), u)
End If |

End If

u=u-1

yes=10

If out =1 Then
Exit For
End If

Next ii

If out = O Then
Forii=i+1Toxx-1
u=u+1

use{u) =il

Forzz=0Tou-1

Forzi=zz+1Tou

187



1f ¢cy(choice, lo, zz)} > cy(choice, lo, zi) Then
compare = c¢y(choice, lo, zi} + 1

Else

compare = cy(choice, lo, zz) + 1

End If

nub=0

For za = 0 To cy(choice, lo, zz)

For zb = 0 To cy(choice, lo, zi)

If cycle(choice, lo, zz, za) = cycle(choice, lo, zi, zb) Then
nub=nub+1

End If

Next zb

Next za

If (nub > 0) And (nub < compare} Then

yes =1

End If

Next zi

Next zz

If ((sumpair + sum(ii) = sumatl) Or (yes = 1)) Then
doo=1

Forzg=0Tou-1

Forzz=zg+1Tou

If use(zg) = use(zz) Then

doo=0

End If

Next zz

Next zg

1f (u < k(choice, 10)) And (doo =1) Then
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out = checkdo(use(), u)
End If

End If

u=u-1

yes=0

If out =1 Then
Exit For

End If

Next ii

End If

If out =1 Then
Exit For
EndIf

Next xx

If out = 1 Then
Exit For
End If

Next i

If out = 1 Then
Exit For
Else

u=u-+l

use(u} = k(choice, lo)

sumpair = sumpair -+ sum{k(choice, 1o))
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For xx =0 To match - 1
u=u-+1

use(u) = xx

sumpair = sumpair + sum(xx)
Next xx

For ii = 0 To match

u=u+l

use(u) = ii

Forzz=0Tou- 1

Forzi=zz+1Tou

If cy(choice, o, zz) > cy(choice, lo, zi) Then
compare = cy(choice, lo, zi) + 1

Else

compare = cy(choice, lo, zz) + 1

End If

mb=10

For za = 0 To cy(choice, lo, zz)

For zb = 0 To cy(choice, lo, zi)

It cycle(choiqe, lo, zz, za) = cycle(choice, lo, zi, zb) Then
nub = nub + 1

End 1f

Next zb

Next za

If (nub > 0) And (nub < compare) Then
yes=1

End If

Next zi

Next zz
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If ((sumpair + sum(ii) = sumall) Or (yes = 1)) Then

If u <> k(choice, lo) Then
out = checkdo(use(), u)
End If

End If

u=u-1

yes = ()

If out =1 Then
Exit For

End If

Next ii

EndIf

Next match

End If

EndIf

If (de(lo) > -1) And (choice = 1) Then

checkdcare

End If

For z =0 To k(choice, 1o)

For zz = 0 To cy(choice, lo, z)
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za=za+ 1

cycle(choice, lo, k{choice, lo) + 1, za) = cycle(choice, lo, z, zz)

Next zz

Next z

cy(choice, lo, k(choice, lo) + 1) =za

End If

End Sub

Sub minform()

Dim i As Integer
Dim io As Integer
Dim ii As Integer
Dim relize As Integer

Dim dif As Integer

- Dim same As Integer

Dim doo As Integer
Dirﬁ rou As Integer

Dim locate As Integer
Dim use(100) As Integer
Dim str() As Integer
Dim ¢ As Integer

Dim stt(5) As Integer

Dim ar As Integer

n{cheice, o) =0
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. k(choice, o) =-1
dif=0

same =0

If (allo) =-1) Or (a(lo) = (2 * num) - 1) Then
relize == 0

Else

If a(lo) = 0 Then

relize=0

k(choice, 1o} = k(choice, lo) + 1

ar = arrays(lo, 0}

str = binary(ar)

For ii=0 To hum - 1

stmum(choice, lo, n(choice, 10}, kichoice, lo), ii) = str(ii)
Next ii

Else

relize=1

End If

End If

If relize = 1 Then

For i =0 To a(lo)

k(choice, 10) = k(choice, 10) + 1

ar = arrays(lo, i)

str = binary(ar)

Forii=0Tonum -1

strnum(choice, 1o, n{choice, 1o), k(choice, o), ii) = str(ii)
Next ii

Next i
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End If

Do While relize = 1

relize=0

Forio =0 To k(choice, 1o} - 1
For i=io + 1 To k(choice, 1o)
dif=0

Forii=0Tonum- 1

If strnum(choice, lo, n{choice, lo}, io, ii) < strnum(choice, lo, n{choice, 10), i, ii) Then
dif =dif + 1

End If

Next ii

If dif = 1 Then

relize=1

Exit For

Else

relize =0

End If

Next i

If relize = 1 Then

Exit For

End If

Next 10

Ifrelize = 1 Then
rou = k{choice, 1o)
k{choice, lo} = -1

doo=1
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Fori=10 To rou
use(i) =0

Next i

Forio=0Torou-1

Fori=io+ 1 Torou

dif=0

Forii=0Tonum -1

If strmum(choice, lo, n{choice, 10), io, ii) <> strmum{choice, lo, n(choice, lo), i, ii) Then
dif = dif + 1

locate =i

End If

Next 1i

If dif =1 Then

Forii=0 Tonum - 1

stt(ii) = stmum(choice, 1o, n{choice, 10), i, ii)
Next ii

stt(locate) = -1

For ¢ =0 To k(choice, 1o)

same =0

Forii=0Tonum- 1

If stmum(choice, 1o, n{choice, 10) + 1, ¢, ii) = stt(ii) Then
same = same + 1

End If

Next ii

If same = num Then

doo=0
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Exit For
Else
doo=1
End If

Next c

If doo = 1 Then

k(choice, 10) = k(choice, 1o) + 1

Forii=0 Tonum- 1

strmum(choice, lo, n(choice, o) + 1, k(choice, 1o), ii) = strnum{(choice, lo, n(choice, o), i, ii)
Next ii

strnum(choice, lo, n(choice, lo) + 1, k(choice, 10), locate) = -1

End if

use(i) = 1

use(io) = 1

End If

If dif = 0 Then

k(choice, 1o) = k(choice, 1o) + 1

Forii=0 Tonum- 1

strnum(choice, lo, n(choice, 10) + 1, k(choice, lo), ii) = stmum(choice, o, n(choice, 10), i, ii)
Next ii

use(i) =1

use(io) = 1

End If

Next i

Next io

Fori=0 Torou
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If use(i) = 0 Then

k{choice, lo) = k(choice, lo) + 1

Forii=0Tonum- 1

strnum(choice, lo, n(choice, 1o) + 1, k(choice, 10), ii) = strnum{choice, lo, n(choice, 10), i, ii)
Next ii

End If
Next i

n(choice, 10) = n(choice, lo) + 1

End If
Loop

End Sub

Function binary(z As Integer) As Integer(}
Dim gg As Integer '

Dim kg As Integer

Dim strr() As Integer

ReDim strr{num)

gg=2"(num- 1)

Do While Not ({gg = 0) And (z=0))
z=z-gg

If z>= 0 Then

strr(kg) = 1

kg=kg+1



Else
strr(kg) = 0
kg=kg+1
z=z+gg
End If
ge=gg/2
Loop

binary = strr

End Function

Sub appear()

Select Case num

Case 2

Framel{0).Visible = True

Framel1(0).Caption = unk(1} & "\ " & unk(0)
tnumf =0

tnuml =3

Case 3

Framel(1).Visible = True
Framel(1).Caption = unk(1) & " " & unk(2} & "\ " & unk(0)
tnumf =4

tnuml = 11

End Select

End Sub

Sub fmess()

Dim mess As String

198



Dim i As Integer
Dim ii As Integer

Dim aorhj As Integer

If schoice(lo) = 0 Then
aorhj = hj(lo)

Else

aorhj = a(lo)

End If

Fori=0To 15

messp(lo, i) =

Next i

Select Case aorhj
Case -1

If logic = "0" Then
messp(lo, 0) ="1"
Else

messp(lo, 0) = "0"
End If

k(schoice(lo), 10) = k(schoice(lo), 1o) + 1

Case ((2 » num) - 1)

If de(lo) <= (2 ~ num) - 1 Then

If logic = "0" Then
messp(lo, 0y ="0"
Else

messp(lo, 0) ="1"
End If

Else
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If logic ="0" Then

messp(lo, 0)="1"

Else

messp(lo, 0) ="0"

End If

k(schoice(lo), lo) =0

End If

k(schoice(lo), 1o) = k(schoice(lo), lo) + 1
Case Else

Select Case logic

Case "0"

For i = 0 To k(schoice(lo), 1o)

Forii=0Tonum- 1

Select Case strmum(schoice(lo), lo, n(schoice(10), o), i, ii)
Case 0
“If messp(lo, i) = "" Theﬁ
mess = mess & "("
Else
mess = mess & "+"
messp(lo, 1) = messp(lo, i) & "+"

End If

mess = mess & unk(ii)

messp(lo, 1) = messp(lo, 1) & unk(ii)

Case
If messp(lo, i) =" Then
mess = mess & "("

Else
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mess = mess & "+"

messp(lo, 1} = messp(lo, i) & "+"

End If

mess = mess & unk(ii) & "*"

messp(lo, i) = messp(lo, i) & unk(ii) & "*"

End Select

Next ii
mess = mess & )"

Next i

Case "1"
For i = 0 To k(schoice(lo}, lo)

Forii=0Tonum- 1

Select Case strmum(schoice(lo}, lo, n{schoice(lo), 10), i, 1i)
Case 0

mess = mess & unk(ii) & "*"

messp(lo, i) = messp(lo, i) & unk(ii) & "*"

Case 1

mess = mess & unk(ii)

messp(lo, i) = messp(lo, i) & unk(ii)

End Select

Next ii

If | <> k(schoice(lo), lo} Then
mess = mess & "+"

End If

Next 1



End Select
messp(lo, k(schoice(lo), 10) + 1) = mess

End Select
End Sub

Sub initail()

Dim i As Integer
Dim j As String
Dim lis As Integer
Dim ii As Integer

Dim aorhj As Integer

lis = List2.ListIndex

If schoice(lis) = 0 Then
aorhj = hj(lis)

Else

aorhj = a(lis)

End If

For i =0 To aorhj
Labell(arrays(lis, i) + tnumf).Caption = logic

Next i

Fori=0 To de(lis)
Labell{dcare(lis, i)).Caption = "d"

Next 1
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If k(schoice(lis), lis) = 0 Then
Label5.Caption = messp(lis, 0)

If aorhj = ((2 “ num) - 1) Then

For i = tmumf To tnuml
Label1(i}).BackColor = QBColor{10)
Next i

End If

If (aorhj <= -1) And (aorhj <> (2 * num) - 1) Then

For i = 0 To cy(schoice(lis), lis, k{schoice(lis), lis))

Labell(cycle(schoice(lis), lis, k(schoice(lis), 1is), i)).BackColor = QBColor(10)
Next i

End If

Else

If (aorhj <= -1) And (aorhj <> (2 ~ num) - 1) Then

For i =0 To k(schoice(lis), lis)

List], AddItem messp(lis, i)

Next i

j=messp(lis, k(schoice(lis), lis) + 1} & " (ALL)"

Listl.AddlItem j

Label5.Caption = messp(lis, k(schoice(lis), lis) + 1)

For i = 0 To cy(schoice(lis), lis, k(schoice(lis), lis) + 1)

Labell(cycle(schoice(lis), lis, k(schoice(lis), lis) + 1, i)).BackColor = QBColor(10)

Next i

Else

Label5.Caption = messp(lis, 0)



End If
EndIf

If k{schoice(lis), lis) > 0 Then
Command4.Visible = True
End If

If de(lis) = (2 * num) - 1 Then
Command4.Visible = False
End If

If Len(Label5.Caption) > 40 Then
Label5,Width = 7000
Label5.Font,size = 8

List1. Width = 7000

End If

End Sub

Sutb findfi()
Dim i As Integer
Dim X As String

Dim b As Integer |

Fori=1To3

If (2~ i) »=sta Then
outf = i

Exit For

End If

Next 1
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Fori=0Tooutf-1
outff(i) = "Q" & str¥(outf - 1 - i)

Next i

Select Case Form9.typeff
Case 0

X="D"

Case 1

X="JK"

Case 2

X="T"

End Select

If X ="JK" Then

For i= 0 To outf - 1

inff{b) = "J" & strS(outf- 1 - 1)
b=b+1

inff{b) = "K" & str$(outf - 1 - 1)
b=b+1

Next i

inf=">

Else

Fori=0Tooutf- 1

inff(i} = X & str$(outf- 1 - i)
Next i

inf = cutf

End If
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End Sub

Private Sub Commandl_Click()
End
End Sub

Private Sub Command2 Click()
Formé6.Visible = True

Unload Form10

End Sub

Private Sub Command4 Click()
If List1.Visible = True Then
Listl.Visible = False

Else

List1.Visible = True

End If

End Sub

Private Sub Form_DragDrop(Source As Control, X As Single, Y As Single)
Framel(frameindex). Top =Y - firsty

Framel(frameindex).Left = X - firstx

xy=0

End Sub

Private Sub Form_Load()
Dim i As Integer

Dim ii As Integer



Dim X As Integer
Dim numm As Integer
Dim ss(15) As String
Dim nummo As Integer
Dim Y As Integer
Dim z As Integer

Dim g As Integer

Dim za As Integer
Dim zz As Integer
Dim j As Integer

Dim char As String
Dim vk As Integer
Dim h As Integer

If Form7.Combol.Text = "Minterm" Then

Togic="1I"
Else

logic ="0"
End If

State = Form7.cuts(Form7.Text3. Text)
sta=Form7.sta

output = Form7.cuts(Form7. Text2. Text)
numout = Form7.numout

findff

Fori=0To outf- 1
unk(i) = outff{i)
Next i

num = outf
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a(g)=-1

de(g) =-1

For ii =0 To numout - 1

vk=0

Fori=0To (2~ outf) - |

char = Form8.Label5(i + h).Caption

Select Case char
Case logic
a(g) =a(g) +1

arrays(g, a(g)) = vk

Case "-"
de(g) = de(g) + 1
dcare(g, de(g)) = vk + tnumf

End Select

vk=vk +1

Next i

g=g+l
a(g)=-1
de(g) =-1
h=h+8

Next ii
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lfnum‘> 1 Then

choice =0

For lo =0 To numout - 1
minform

feycle

Next lo

choice =1

For i =0 To numout - 1
Forii= 0 To a(i)

hjj(i, i) = arrays(i, i)
Next ii

hj(i) = ai)

Next i

~ Fori=0Tonumout - 1

X =ali)

For it = 0 To dc(i)

X=X+1

arrays(i, X) = dcare(i, i1) - tnumf
Next ii

a(i)=X

Next 1
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For lo=( To numout - 1
minform

feycle

Next lo

Fori=0 To numout - 1
If k(0, i} <k(1, i) Then

schoice(i) =0

For ii = 0 To k(0, i)

kyoko:

For X=0Tok(l, i)

If cy(0, i, ii) < ¢y(1, i, X) Then

For Y = 0 To cy(0, i, ii}
Forz=0Tocy(l,i,X)

If cycle(0, 1, ii, Y) = cycle(l, i, X, z) Then

For g=0To cy(1, i, X)

cycle(0, i, 1i, g) = cycle(l, i, X, g)
Next g

cy(0, 1, ii) = ey(l, i, X)

za=-1

For j =0 Tok(0, 1)

For zz =0 To cy(0, i, })

za=zatl

cycle(0, i, k(0, i) + 1, za) = cycle(0, i, j, zz)
Next zz

Next j
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cy(0,1,k(0,i) + 1) =za

Forza=0Tonum-1
strmum(0, 1, n(0, 1), ii, za) = strmum(1, i, n(1, i), X, za)

Next za

If ii =k(0, i) Then
GoTo godai:
Else

GoTo kyoko:
fi=ii+1
End If

End If

Next z
NextY

End If

Next X

Next ii
godai:

Else
schoice(i) = 1
End If

Next i
Forlo =0 To mumnout - 1
fimess

Nextlo

End If
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For i=0 To numout - 1
List2. Additem output(i)

Next 1

List2.Listindex = 0
oldlist = 0

End Sub

Private Sub Framel DragOver(Index As Integer, Source As Control, X As Single, Y As Single,

State As Integer)

Ifxy =0 Then
frameindex = Index
firstx =X
firsty=Y

xy=1

End1f

End Sub

~ Private Sub Listl_Click()
Dim i As Integer

Dim lis As Integer

lis = List2.ListIndex

Label5.Caption = messp(lis, List1.ListIndex)

For i = tnumf To thuml
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Label1(i).BackColor = QBColor(15)

Next i

For i = 0 To cy(schoice(lis), lis, List].ListIndex)
Label1(cycle(schoice(lis), lis, List1.ListIndex, i)).BackColor = QBColor(10}

Next i

Listl.Visible = False
End Sub

Private Sub List2_Click()
Dim i As Integer

Dim h As String

Dim ii As Integer

Dim same As Integer

If num = 1 Then

Forii=0To 1

h="" & Form8.Label5(ii}.Caption
Ifh = str$(ii) Then

same = samne + |

Else

If Form8.Label 5(ii).Caption = "-" Then
hasd=hasd + 1

End If

End If

Next ii

If hasd = § Then



Select Case same
Case 0
Label5.Caption = "QQ*"

Casel

Label5.Caption = Form8.Label5(0).Caption

Case 2

Label5.Caption = "QQ"
End Select

Else

Select Case same

Case 0

Label5.Caption = "Q0*"
Case 1

Label5.Caption = "Q0"
End Select

End If

Else

For 1 = mumnf To tnuml

Label1(i).Caption=""

Label1(i).BackColor = QBColor(15)

Next i

If List1.ListCount > ¢ Then
For i = 0 To k(schoice(oldlist), oldlist) + 1

Listl.Removelter k(schoice(oldlist), oldlist) + 1 - i

Next 1

End If

oldlist = List2.ListIndex
initail

End If

End Sub
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